

P.O. Box 19 / 325 E. 2nd St. Jackson, GA 30233 Phone: (770) 775-7826 FAX: (770) 775-7122 e-mail: abseed@juno.com

"The ABC's of Buying Seed" – Since 1946

**Since 1946** we at **ADAMS-BRISCOE SEED COMPANY** have recommended special "ABC" seed mixes for Farm, Hunting, Wildlife Preserves, and State & Federal Agencies to be used for the improvement of Wildlife food & habitat and for conservation & environmental uses. We try to provide our customers with quality seed and related items at fair prices. We offer service that is often not available from other companies and product knowledge to help you in selecting the seeds to best serve your needs. Please call us if we may be of any assistance to you. We appreciate your business very much.

<u>NOTE</u>: When Ordering please verify prices and availability. <u>Prices are subject to change</u>, and supplies may be limited. Items are priced by the # (pound), PLS# (Pure Live Seed #), bag, pk. (pack), or ea. (each). Note: There is an extra charge for broken bag quantities. Our terms are net cash, check, credit card. We accept VISA, MasterCard, AMEX, & DISCOVER. We do not accept COD orders. All prices are quoted FOB Jackson, Ga. (customer pays for shipping). We ship via UPS, USPS, or Truckline. <u>NOTICE</u>: UPS now restricts package weight to less than 50 lb. Therefore, we are reducing the shipping package quantity size to 45 lbs. on most items to avoid the extra package surcharge for exceeding 50 lbs.

# Seed List Enclosed



<u>NOTICE</u>: Subject to the limitation of liability herein set forth, we warrant that the seeds or bulbs sold are as described on the container, within recognized tolerances. Our liability on this warranty is limited in amount to the purchase price of the seed or bulbs. In no event shall we be liable for the crop, or for any loss due to the failure, impairment or quality thereof or varietal variance therein, whether such loss results from breach of the foregoing warranty, from breach of any other provision of the buyer's contract for purchase of said seed or bulbs, or from any other cause.



P.O. Box 19 / 325 E. 2nd St. Jackson, GA 30233 Phone: (770) 775-7826 FAX: (770) 775-7122 e-mail: abseed@juno.com

### Located in warehouse behind Badcock Furniture at 325 East Second Street, Jackson, GA.

N. MIMOSALN.	W. SECOND ST.	ROSE ST.	MULBERRY ST. N. Holley St.	Badcock E. SECOND ST.		ASH ST. ASH ST.	LYONS ST.
	THIRD ST.	1	THIRD ST.	16 (2)49	SUBWAR	THIRD ST.	16 (2)/43
S WMOSALN			BYARS ST. 5 5	DEMPSEY AVE.	COLLEGE ST.	CVS W IS MAKKUN ST	NOLAN SPRINGS ST



P.O. Box 19 / 325 E. 2nd St. Jackson, GA 30233 Phone: (770) 775-7826 FAX: (770) 775-7122 e-mail: abseed@juno.com

## "The ABC's of Buying Seed" – Since 1946

Since 1946 we at ADAMS-BRISCOE SEED COMPANY have recommended special "ABC" seed mixes for Farm, Hunting, Wildlife Preserves, and State & Federal Agencies to be used for the improvement of Wildlife food & habitat and for conservation & environmental uses. We try to provide our customers with quality seed and related items at fair prices. We offer service that is often not available from other companies and product knowledge to help you in selecting the seeds to best serve your needs. Please call us if we may be of any assistance to you. We appreciate your business very much.

NOTE: When Ordering please verify prices and availability. Prices are subject to change, and supplies may be limited. Items are priced by the # (pound), PLS# (Pure Live Seed #), bag, pk. (pack), or ea. (each). <u>Note:</u> There is an extra charge for broken bag quantities. Our terms are net cash, check, credit card. We accept VISA, MasterCard, AMEX, & DISCOVER. We do not accept COD orders. All prices are quoted FOB Jackson, Ga. (customer pays for shipping). We ship via UPS, USPS, or Truckline,

NOTICE : Subject to the limitation of liability herein set forth, we warrant that the seeds or bulbs sold are as described on the container, within recognized tolerances. Our liability on this warranty is limited in amount to the purchase price of the seed or bulbs. In no event shall we be liable for the crop, or for any loss due to the failure, impairment or quality thereof or varietal variance therein, whether such loss results from breach of the foregoing warranty, from breach of any other provision of the buyer's contract for purchase of said seed or bulbs, or from any other cause.

## **Seed Price List**

### February 25, 2020

<u>Please Note:</u> Prices are subject to change

Please call us to verify current price and availability of seed.

T Tetase T tote	r rees are subject to change	Thease can us to verify curre			inty of seet	
Kind:	Variety: (Wildlife Mixes)	(notes)	Whole bag Price	Bag Size	bag Price/#	broken bag Price / #
ABC Mix (Fall)	ABC <u>Annual</u> Deer / Turkey Fall Mix	60 lb per Acre	\$45.00	45# bag	\$1.00	\$1.20
ABC Mix (Fall)	ABC Perennial Deer / Turkey Fall Mix	35 lb per Acre	\$90.00	45# bag	\$2.00	\$2.40
ABC Mix (Fall)	ABC GA. Wildlife Delight Fall Mix	35 lb per Acre	\$99.00	45# bag	\$2.20	\$2.64
ABC Mix (Fall)	ABC Fall <b>Overseeder</b> Mix	50 lb per Acre	\$37.35	45# bag	\$0.83	\$1.00
ABC Mix (Fall)	ABC <i>Economy</i> Fall Deer Mix	100 lb per Acre	\$27.00	45# bag	\$0.60	\$1.00
ABC Mix (Fall)	ABC Deer Delight Brassica Mix	10 lb per Acre	\$35.00	5# bag	\$7.00	\$8.40
ABC Mix (Fall)	ABC Hunters Choice Clover Mix	15 lb per Acre	\$20.00	5# bag	\$4.00	\$4.80
ABC Mix (Fall)	ABC Chicory-White Clover Mix	10 lb per Acre	\$35.00	5# bag	\$7.00	\$8.40
ABC Mix (Fall)	ABC Ladino Clover Mix	10 lb per Acre	\$35.00	5# bag	\$7.00	\$8.40
ABC Mix (Fall)	ABC "Over-The-Top" Mix	20 lb per Acre	\$55.00	20# bag	\$2.75	\$3.30
ABC Mix (Fall)	ABC "Bee Kind" Blend	20 lb per Acre	\$10.00	5# bag	\$2.00	\$2.40
ABC Mix (Fall)	ABC "Sweet Alternative" Southern Mix	20 lb per Acre	\$60.00	20# bag	\$3.00	\$3.60
ABC Mix (Fall)	ABC "Logical Alternative" Mix	10 lb per Acre	\$25.00	5# bag	\$5.00	\$6.00
ABC Conservation Mix	ABC "CRP" Mixes (for USDA programs)	(Seeding rate varies with mix)		Call f	or pricing	
ABC Mix (Summer / Fall)	ABC "Summer Cover" Mix	45 lb per Acre	\$76.50	45# bag	\$1.70	\$2.04
ABC Mix (Spring)	ABC Deer Mix - <b>Spring</b>	25 lb per Acre	\$92.50	25# bag	\$3.70	\$4.44
ABC Mix (Spring)	ABC Deer / Turkey Spring Mix	35 lb per Acre	\$67.50	45# bag	\$1.50	\$1.80
ABC Mix (Spr / Sum)	ABC Deer Mix - <u>Summer</u>	50 lb per Acre	\$45.00	45# bag	\$1.00	\$1.20
ABC Mix (Spr / Sum)	ABC Dove Mix	35 lb per Acre	\$67.50	45# bag	\$1.50	\$1.80
ABC Mix (Spr / Sum)	ABC Duck Mix	35 lb per Acre	\$67.50	45# bag	\$1.50	\$1.80
ABC Mix (Spr / Sum)	ABC Ga. Wildlife Delight Spring Mix	25 lb per Acre	\$76.50	45# bag	\$1.70	\$2.04
ABC Mix (Spr / Sum)	ABC Quail Mix	35 lb per Acre	\$67.50	45# bag	\$1.50	\$1.80
Kind:	Variety:	Botanical Name:	Bag Price	Bag Size	Price per #	Price per # (broken bags)
Aeschynomene	Aeschynomene (American Jointvetch)	Aeschynomeme americana	\$175.00	25# bag	\$7.00	\$8.75
Alfalfa	Ameristand 403T Alfalfa (4 dormancy)	Medicago sativa	\$230.00	25# bag	\$9.20	\$11.50
Alfalfa	Ameristand 803T Alfalfa (8 dormancy)	Medicago sativa	\$256.00	25# bag	\$10.24	\$12.80
Alfalfa	Bulldog 505 Alfalfa (GA Piedmont-North)	Medicago sativa	\$165.00	25# bag	\$6.60	\$8.25
Alfalfa	Bulldog 805 Alfalfa (GA Coastal Plain-South)	Medicago sativa	\$165.00	25# bag	\$6.60	\$8.25
Barley	Barley - (Atlantic or Secretariot)	Horedeum vulgare L.	\$25.83	48# bag	\$0.53	\$1.00
Beggarweed	Ticktrefoil (Showy & Panicleleaf)	Desmodium	\$53.33	lb.		\$64.00
Birdsfoot Trefoil	Birdsfoot Trefoil	Lotus corniculatus	\$175.00	25# bag	\$7.00	\$8.40
Beets	Sugar Beets	Beta vulgaris	\$175.00	25# bag	\$7.00	\$8.75
Brassica / Mix	Brassica Mix - "ABC Deer Delight"	Brassica	\$175.00	25# bag	\$7.00	\$8.40
Brassica / Kale	Siberian Kale	Brassica oleracia	\$130.00	25# bag	\$5.20	\$6.50
Brassica / Kale	Maris Kestrel Kale	Brassica oleracia	\$240.00	25# bag	\$9.60	\$12.00
Brassica / Radish	Daikon Radish (Buster Radish)	Raphanus sativus	\$70.00	25# bag	\$2.80	\$3.50
Brassica / Rape	Barsica Rape	Brassica napus	\$70.00	25# bag	\$2.80	\$3.50

Jimmy Adams Greg Adams

"The ABC's of Buying Seed" - Since 1946 We

Website: WWW.ABSEED.COM



P.O. Box 19 / 325 E. 2nd St. Jackson, GA 30233 Phone: (770) 775-7826 FAX: (770) 775-7122 e-mail: abseed@juno.com

Kind:	Variety:	Botanical Name:	Bag Price	Bag Size	Price per #	Price per # (broken bags)
Brassica / Rape	Bonar Rape	Brassica napus	\$150.00	25# bag	\$6.00	\$7.50
Brassica / Rape	Canola - "ABC Deer Salad" (Winter Rapeseed)	Brassica napus	\$150.00	25# bag	\$6.00	\$7.50
Brassica / Rape	Dwarf Essex Rape	Brassica napus	\$35.00	25# bag	\$1.40	\$1.75
Brassica / Rape	Trophy Rape	Brassica napus	\$30.00	25# bag	\$1.20	\$1.50
Brassica / Swede	Major Plus Swede / Winton Swede	Brassica napus.rapifera	\$178.00	25# bag	\$7.12	\$8.90
Brassica / Turnips	Pacer / Appin / Pasja Turnips	Brassica rapa	\$136.00	25# bag	\$5.44	\$6.80
Brassica / Turnips	Barkant Turnips	Brassica rapa	\$80.00	25# bag	\$3.20	\$4.00
Brassica / Turnips	Purple Top / White Globe Turnips	Brassica rapa	\$70.00	25# bag	\$2.80	\$6.00
Buckwheat	Buckwheat	Fagopyrum esculentum	\$66.67	50# bag	\$1.60	\$2.00
Bundleflower	Illinois Bundleflower	Desmanthus illinoensis	\$13.33	lb.	\$13.33	\$16.00
Burnett	Delar Small Burnett	Sanguinsorba minor	\$5.83	lb.	\$5.83	\$7.00
Chicory	Six Point Chicory	Chichorium intybus	\$205.00	25# bag	\$8.20	\$10.25
Chufa	Chufa	Cyperus Esculentus	\$79.17	50# bag	\$1.90	\$2.38
Clover / ABC Mix	"ABC" Hunters Choice Clover Mix	Trifolium spp	\$100.00	25#bag	\$4.00	\$4.80
Clover-Alyceclover	Alyceclover	Alysicarpus vaginalis	\$100.00	25# bag	\$4.00	\$5.00
Clover-Alsike	Alsike Clover	Trifolium hybridum	\$5.20	lb.	<i>q</i> 1100	\$5.20
Clover-Arrowleaf	Appache Arrowleaf (coated)	Trifolium vesculosum	\$95.00	25# bag	\$3.80	\$4.75
Clover-Arrowleaf	Blackhawk Arrowleaf (coated)	Trifolium vesculosum	\$70.00	25# bag	\$2.80	\$3.50
Clover-Arrowleaf	Yuchi Arrowleaf (raw)	Trifolium vesculosum	\$70.00	25# bag	\$2.80	\$3.50
Clover-Balansa	Fixation Balansa Clover	Trifolium michelianum	\$90.00	25# bag	\$3.60	\$4.50
Clover-Ball	Ball Clover	Trifolium nigrescens	\$225.00	25# bag	\$9.00	\$10.80
Clover-Berseem	Frosty Berseem (coated)	Trifolium alexandrinum	\$110.00	25# bag	\$4.40	\$5.50
Clover-Crimson	AU Robin Crimson (coated)	Trifolium incarnatum	\$65.00	25# bag	<i>•</i> · · · · ·	45150
Clover-Crimson	White Cloud Crimson (coated)	Trifolium incarnatum	\$60.00	25# bag		
Clover-Crimson	Dixie Crimson (raw / plain)	Trifolium incarnatum	\$61.00	25# bag	\$2.44	\$3.05
Clover-Crimson	Dixie Crimson (coated)	Trifolium incarnatum	\$50.00	25# bag	\$2.00	\$2.50
Clover-Crimson	Dixie Crimson - Organic Coated	Trifolium incarnatum	\$69.00	25# bag	\$2.76	\$3.45
Clover-Red	Medium Red Clover (coated)	Trifolium pratense	\$65.00	25# bag	\$2.60	\$3.25
Clover-Red	<b>GA 9908</b> Medium Red Clover (coated)	Trifolium pratense	\$72.00	25# bag	\$2.88	\$3.60
Clover-Red	Gallant Red Clover (coated)	Trifolium pratense	\$100.00	25# bag	\$4.00	\$5.00
Clover-Subterranean	Dal Keith Subterranean (coated)	Trifolium subterraneaum	\$150.00	25# bag	\$6.00	\$7.50
Clover-Sweet	Hubam White Sweetclover	Melilotus alba	\$185.00	25# bag	\$7.40	\$9.25
Clover-Sweet	Silver River White Sweetclover	Melilotus alba	\$196.00	25# bag	\$7.84	\$9.80
Clover-Sweet	Yellow Blossom Sweetclover,	Melilotus officinalis	\$66.00	25# bag	\$2.64	\$3.30
Clover-White	Durana white Clover (Coated)	Trifolium repens	\$208.25	25# bag	\$8.33	\$10.00
Clover-White	Patriot White Cover (Coated)	Trifolium repens	\$208.25	25# bag	\$8.33	\$10.00
Clover-White	White Dutch White Clover	Trifolium repens	\$100.00	25# bag	\$4.00	\$5.00
Clover-White	Louisana S-1 White Clover	Trifolium repens	\$150.00	25# bag	\$6.00	\$7.50
Clover-White	Renovation White Clover (coated)	Trifolium repens	\$191.75	25# bag	\$7.67	\$9.20
Clover-White Ladino	"ABC" Ladino White Clover Mix (coated)	Trifolium repens	\$166.75	25# bag	\$6.67	\$8.00
Clover-White Ladino	Advantage Ladino White Clover (coated)	Trifolium repens	\$142.50	25# bag	\$5.70	\$7.13
Clover-White Ladino	<b>Companion</b> Ladino White Clover (coated)	Trifolium repens	\$100.00	25# bag	\$4.00	\$5.00
Clover-White Ladino	Osceola Ladino White Clover (coated)	Trifolium repens	\$158.25	25# bag	\$6.33	\$7.60
Clover-White Ladino	Seminole Ladino White Clover (coated)	Trifolium repens	\$190.00	25# bag	\$3.80	\$4.75
Clover-White Ladino	Regalgraze Ladino White Clover (coated)	Trifolium repens	\$158.25	25# bag	\$5.80	\$7.60
Corn - Garden varieties	"Garden" Corn (Hybrid and Open Polinated)	Zea Mays			pricing and va	
Corn - Ducks	"Duck" Corn / Dwarf Wildlife Corn - RR	Zea Mays	\$166.67	1	d Count bag	
Corn - Quail	"Quail" Corn / South American Popcorn	Zea Mays	\$100.07	25# bag	\$5.00	\$6.25
Croton	Doveweed (Wooly Croton) - OUT	Croton capitatus Michx.	Ψ125.00	call	<del>45.00</del>	\$22.50
Crownvetch	Crownvetch	Coronilla varia	\$34.67	lb.		\$41.60
Dichondra	Dichondra Repens	Dichondra repens	\$11.67	1# bag		\$14.00
				-	¢4 E0	
Duckwheat	Duckwheat (Tartary Buckwheat)	Fagopyrum tartaricum	\$112.50	25# bag	\$4.50	\$5.63
Grass-Cool Season	Canarygrass, Reed	Phalaris arundinacea	\$250.00	50# bag	\$5.00	\$6.00
Grass-Cool Season	Matua Bromegrass (Prairie Brome)	Bromus	\$200.00	50# bag	\$4.00	\$4.80
Grass-Cool Season	Bromegrass, Smooth	Bromus inermis	\$6.40	lb.	¢2.50	\$8.00
Grass-Cool Season	Orchardgrass, Persist	Dactylis glomerata	\$175.00	50# bag	\$3.50	\$4.20

Jimmy Adams Greg Adams

"The ABC's of Buying Seed" - Since 1946 Websit



### P.O. Box 19 / 325 E. 2nd St. Jackson, GA 30233 Phone: (770) 775-7826 FAX: (770) 775-7122 e-mail: abseed@juno.com

Kind:	Variety:	Botanical Name:	Bag Price	Bag Size	Price per #	Price per # (broken bags)
Grass-Cool Season	Orchardgrass, Potomac	Dactylis glomerata	\$140.00	50# bag	\$2.80	\$3.36
Grass-Cool Season	Timothy	Phleum pratense L.	\$66.50	50# bag	\$1.33	\$1.60
Grass-Cool Season	Contractors Mix - (Fescue / Ryegrass)	Mixture	\$71.50	50# bag	\$1.43	\$1.72
Grass-Fescue	Creeping Red Fescue	Festuca rubra	\$55.00	25# bag	\$2.20	\$2.64
Grass-Fescue	Endophyte Free Tall Fescue	Festuca arundinacea	\$112.50	50# bag	\$2.25	\$2.70
Grass-Fescue	Ky. 31 Tall Fescue - 50# bag	Festuca arundinacea	\$73.50	50# bag	\$1.47	\$1.76
Grass-Fescue	<b>Titan Rx</b> (Turf Type) (shade tolerant)	Festuca arundinacea	\$66.75	25# bag	\$2.67	\$3.20
Grass-Ryegrass	Attain Tetraploid Annual Ryegrass	Lolium multiflorum	\$55.00	50# bag	\$1.10	\$1.32
Grass-Ryegrass	Bulldog Annual Ryegrass	Lolium multiflorum	\$55.00	50# bag	\$1.10	\$1.32
Grass-Ryegrass	Gulf Annual Ryegrass	Lolium multiflorum	\$40.00	50# bag	\$0.80	\$0.96
Grass-Ryegrass	Marshall Annual Ryegrass	Lolium multiflorum	\$55.00	50# bag	\$1.10	\$1.32
Grass-Ryegrass	Linn Perennial Ryegrass (Forage Type)	Lolium perenne	\$100.00	50# bag	\$2.00	\$2.40
Grass-Ryegrass	Champion GQ Perennial Ryegrass (Turf Type)	Lolium perenne	\$120.00	50# bag	\$2.40	\$2.88
Grass-Warm Season	Bahiagrass, Argentine	Paspalum notatum	\$333.50	50# bag	\$6.67	\$8.00
Grass-Warm Season	Bahiagrass, Pensacola (common) - raw	Paspalum notatum	\$150.00	50# bag	\$3.00	\$3.60
Grass-Warm Season	Bahiagrass, Pensacola (common) - coated	Paspalum notatum	\$115.00	50# bag	\$2.30	\$2.76
Grass-Warm Season	Bahiagrass, Tifton 9 (Certified)-40# bag	Paspalum notatum	\$216.80	40# bag	\$5.42	\$6.50
Grass-Warm Season	Bahiagrass, Tifquik (Certified)-40# bag	Paspalum notatum	\$383.20	40# bag	\$9.58	\$11.50
Grass-Warm Season	Bermudagrass, Common Hulled - Coated	Cynodon dactylon	\$208.50	50# bag	\$4.17	\$5.00
Grass-Warm Season	Bermudagrass, Common Hulled - Raw	Cynodon dactylon	\$383.50	50# bag	\$7.67	\$9.20
Grass-Warm Season	Bermudagrass, Common, Unhulled - Raw	Cynodon dactylon	\$266.50	50# bag	\$5.33	\$6.40
Grass-Warm Season	Bermudagrass, <b>Wrangler</b> Forage	Cynodon dactylon	\$458.50	50# bag	\$9.17	\$11.00
Grass-Warm Season	Bermudagrass, Chilly Verde Forage	Cynodon dactylon	\$400.00	50# bag	\$8.00	\$9.60
Grass-Warm Season	Bermudagrass, Black Jack / Maya (turf)	Cynodon dactylon	\$191.75	25# bag	\$7.67	\$9.20
Grass-Warm Season	Carpetgrass - Coated OUT	Axonopus compresus				
Grass-Warm Season	Centepedgrass, Tif-Blair - 1# bag	Eremochloa ophiuroides Hack.	\$46.42	1# bag	\$46.42	
Grass-Warm Season	Centipedegrass, Common - Coated	Eremochloa ophiuroides Hack.	\$150.00	5# bag	\$30.00	\$37.50
Grass-Warm Season	Crabgrass, Red River - 25# bag	Digitaria ciliaris	\$183.25	25#	\$7.33	\$11.00
Grass-Warm Season	Crabgrass, Quick & Big - 25# bag	Digitaria ciliaris	\$416.75	25#	\$16.67	\$25.00
Grass-Warm Season	Dallisgrass - Sold Out	Paspalum dilatum				
Grass-Warm Season	Johnsongrass - CALL	Sorghum halepense	\$0.00	call		\$0.00
Grass-Warm Season	Weeping Lovegrass - Raw	Eragrostis curvula	\$396.00	50# bag	\$7.92	\$11.88
Grass-Warm Season	Sorghum Almum	Sorghum almum	\$108.50	50# bag	\$2.17	\$3.25
Grass-Warm Season	Zoysiagrass, Zenith	Zoysia spp.	\$94.16	2# bag	\$47.08	
Grass-Native	Big Bluestem, (call for variety or ecotype)	Andropogon gerardii		per # Pure		5-7 ft
Grass-Native	Little Bluestem, (call for variety or ecotype)	Schizachyrium scoparium		per # Pure		3-5 ft
Grass-Native	Broomsedge (Broom Sedge)	Andropogon virginicus		per # Pure		3-5 ft
Grass-Native	Buffalograss, Texoka	Buchloe dactyloides	\$21.50	per # Pure	Live Seed	1 ft
Grass-Native	Deertongue, Tioga	Panicum clandestinum		per # Pure		3-5 ft
Grass-Native	Eastern Gamagrass	Tripsacum dactyloides	\$21.50	per # Pure	Live Seed	up to 9 ft
Grass-Native	Grama, Side Oats	Bouteloua curtipendula	\$16.00	per # Pure	Live Seed	3.3 ft
Grass-Native	Indiangrass, (GA ecotype)	Sorghastrum nutans	\$21.50	per # Pure	Live Seed	up to 8 ft
Grass-Native	Indiangrass, (Call for ecotype)	Sorghastrum nutans	\$21.50	per # Pure	Live Seed	up to 8 ft
Grass-Native	Panicgrass, Atlantic Coastal	Panicum amarum		per # Pure		up to 7 ft
Grass-Native	Purpletop	Tridens flavus		per # Pure		up to 5 ft
Grass-Native	Switchgrass, Alamo (lowland)	Panicum virgatum	\$24.00	per # Pure	Live Seed	9.0 ft
Grass-Native	Switchgrass, Blackwell (upland)	Panicum virgatum	\$14.00	per # Pure	Live Seed	3-5 ft
Grass-Native	Switchgrass, Carthage (upland)	Panicum virgatum	\$8.00	per # Pure	Live Seed	4-6 ft
Grass-Native	Switchgrass, Cave-In-Rock (upland)	Panicum virgatum	\$8.00	per # Pure	Live Seed	5.5 ft
Grass-Native	Switchgrass, Colony (lowland)	Panicum virgatum		per # Pure		9.0 ft
Grass-Native	Switchgrass, Performer (lowland)	Panicum virgatum	\$16.00	per # Pure	Live Seed	5.0 ft
Grass-Native	Switchgrass, Timber (lowland)	Panicum virgatum		per # Pure		6.5 ft
Grass-Native	Wild Rye, Canada	Elymus canadensis	\$8.00	per # Pure	Live Seed	6.5 ft
Grass-Native	Wild Rye, Virginia	Elymus virginicus		per # Pure		4.9 ft
Grass-Native	Call for Varieties Not Listed (see separate sheet)		Call for price			
Hairy Indigo	Hairy Indigo	Indigo fera hirsuta L.		1		\$6.25

"The ABC's of Buying Seed" - Since 1946 Website: WWW.ABSEED.COM



P.O. Box 19 / 325 E. 2nd St. Jackson, GA 30233 Phone: (770) 775-7826 FAX: (770) 775-7122 e-mail: abseed@juno.com

Kind:	Variety:	Botanical Name:	Bag Price	Bag Size	Price per #	Price per # (broken bags)
Lab Lab	Lab Lab	Lab Lab purpureus	\$159.50	25# bag	\$2.90	\$3.63
Lespedeza	Kobe Striate - Not Available in 2020	Lespedeza striata, var: Kobe		50# bag		
Lespedeza	Korean	Lespedeza stipulacia	\$130.00	50# bag	\$2.60	\$3.90
Lespedeza	Sericea, (Hulled)	Lespedeza cuneata	\$250.00	50# bag	\$5.00	\$7.50
Lespedeza	Sericea Lespedeza (Unhulled)	Lespedeza cuneata	\$208.50	50# bag	\$4.17	\$6.25
Lespedeza	AU Grazer Sericea Lespedeza - Out for 2020	Lespedeza cuneata	\$350.00	50# bag		\$10.50
Lespedeza	Bi-Color Shrub Lespedeza Seed - Not Available	Lespedeza bicolor	Seed no longer	r available		
Lupine	Blue Lupine	Lupinus angustifolius	\$64.00	50# bag	\$1.28	\$1.60
Millet	Browntop	Panicum ramosum	\$48.50	50# bag	\$0.97	\$1.45
Millet	Dove Proso	Panicum miliaceum	\$60.00	50# bag	\$1.20	\$1.80
Millet	Browntop-Dove Proso Millet Mix (75 / 25)	(mix)	\$31.00	50# bag	\$0.62	\$0.93
Millet	German Foxtail (Strain R)	Setaria italica	\$50.00	50# bag	\$1.00	\$1.50
Millet	Japanese	Echinochloa	\$58.50	50# bag	\$1.17	\$1.75
Millet	Tifleaf III / Leafy 22 - Hybrid Pearl	Pennisetum glaucum	\$100.00	50# bag	\$2.00	\$3.00
Millet	Exceed BMR Hybrid Pearl Millet	Pennisetum glaucum	\$125.00	50# bag	\$2.50	\$3.75
Millet	White Proso	Panicum miliaceum	\$40.00	50# bag	\$0.80	\$1.20
Oats	Buck Forage Oats	Avena sativa		50# bag		
Oats	Black Oats	Avena sativa		50# bag		
Oats	Bob Oats	Avena sativa		50# bag		
Oats	Coker 227 Oats	Avena sativa	\$25.00	50# bag	\$0.50	\$1.00
Oats	Harrison Oats	Avena sativa	+	50# bag		
Peas-Winter	Austrian Winter Peas (purple flowered)	Pisum sativum	\$40.00	50# bag	\$0.80	\$1.20
Peas-Winter	Whistler Winter Peas (white flowered)	Pisum sativum	\$43.50	50# bag	\$0.87	\$1.30
Peas-Cowpeas	Catjang Peas	Vigna unguiculata / Catjang	\$109.00	50# bag	\$2.18	\$3.28
		5 5 . 5 5		50# bag		
Peas-Cowpeas Peas-Cowpeas	Combine Cowpeas	Vigna sinensis	\$66.50	50# bag	\$1.33 \$1.30	\$2.00
Peas-Perennial	Iron-Clay Mixed Cowpeas Lathco Flat Pea (perennial)	Vigna sinensis Lathyrus sylvestris	\$65.00 \$19.00	Ib.	\$1.30	\$1.95 \$22.80
Partridgepea	Partridge Pea	Cassia fasiculata	\$9.33	lb.	\$9.33	\$22.80
Ragweed	Common Ragweed	Ambrosia aartemisiifolia	\$13.33	lb.	φ	\$16.00
Rice	Rice - Rex	Ambrosia darternisirona	\$36.00	50# bag	\$0.72	\$10.00
Rye (grain)	Elbon Rye	Secale cereale	\$34.00	50# bag	\$0.68	\$1.00
Rye (grain)	Wrens Abruzzi Rye	Secale cereale	\$31.00	50# bag	\$0.62	\$1.00
Sainfoin	Sainfoin, Eski	Onobrychis viciifolia	\$5.83	lb.	φ0 <b>.</b> 02	\$7.00
Sesame	Sesame - Seed Quality	Sesamum indicum L.	\$360.00	45# bag	\$8.00	\$10.00
Sesbania				-	<b>φ0.00</b>	
	Sesbania - Call	Sesbania exaltata	\$5.00	lb.		\$5.00
Smartweed	Pennsylvania Smartweed	Polygonum pennsylvanicum	\$19.20	lb.	40 D0	\$24.00
Sorghum - O.P.	Hegari (White Seeded Sorghum)	Sorghum bicolor	\$110.00	50# bag	\$2.20	\$3.30
Sorghum - O.P.	Rox Orange Cane Sorghum	Sorghum bicolor	\$66.50	50# bag	\$1.33	\$2.00
Sorghum - O.P.	Egyptian Wheat (Shallu Sorghum)	Sorghum	\$83.50	50# bag	\$1.67	\$2.50
Sorghum - O.P.	WGF (Wild Game Food Sorghum)	Sorghum bicolor	\$38.50	50# bag	\$0.77	\$1.15
Sorghum - Hybrid	Athens 100 Hybrid Grain Sorghum	Sorghum bicolor	\$98.50	50# bag	\$1.97	\$2.95
Sorghum - Hybrid	9300 Hybrid Grain Sorghum	Sorghum bicolor	\$98.50	50# bag	\$1.97	\$2.95
Sorghum - Hybrid	9300 Hybrid Grain Sorghum - Concep	Sorghum bicolor	\$125.00	50# bag	\$2.50	\$3.75
Sorghum - Hybrid	Xtra Graze BMR Sorghum-Sudangrass	Sorghum-Sudangrass x	\$91.50	50# bag	\$1.83	\$2.75
Sorghum - Hybrid	Sugar Grazer II Sorghum-Sudangrass	Sorghum-Sudangrass x	\$46.50	50# bag	\$0.93	\$1.00
Soybeans	Bobwhite (trailing / climbing)	Glycine max.	\$3.30	lb.	\$3.30	\$4.13
Soybeans	Laredo (Black Seeded Hay Type)	Glycine max.	\$1.40	lb.	\$1.40	\$1.75
Soybeans	Eagle Brand RR Soybeans	Glycine max.	\$125.00	bag	\$125.00	n/a
Soybeans	Hutcheson / Stonewall (conventional)	Glycine max.	\$33.50	50# bag	\$0.67	\$1.00
Sunflower	Maximillian Sunflower	Helianthus maximilliani	\$57.60	lb.		\$72.00
Sunflower	Common (native) Sunflower	Helianthus annus	\$44.80	lb.		\$56.00
Sunflower	Grey Striped Sunflower - 1# bags	Helianthus	\$16.00	lb.		\$20.00
Sunflower	Small Black (Peredovic) Sunflower	Helianthus	\$1.04	lb.		\$1.30
Sunflower	Lonesome Dove Hybrid Sunflower-Clearfield	Helianthus		25#		
Sunn Hemp	Sunn Hemp	Crotalaria juncea L.	\$79.00	50# bag	\$1.58	\$ 2.38
Triticale	Trical 348 Triticale		\$33.50	50# bag	\$0.67	\$ 1.00

"The ABC's of Buying Seed" - Since 1946 Website: WWW.ABSEED.COM

2/25/2020 Page 7

P.O. Box 19 / 325 E. 2nd St. Jackson, GA 30233 Phone: (770) 775-7826 FAX: (770) 775-7122 e-mail: abseed@juno.com

Kind:	Variety:	Botanical Name:	Bag Price	Bag Size	Price per #		ice per # ken bags)
Velvet Beans	Velvet Beans	Stizolobium deeringianum	\$540.00	50# bag	\$12.00	\$	15.00
Vetch	Hairy Vetch	Vicia Villosa	\$125.00	50# bag	\$2.50	\$	3.75
Wheat	Saluda / Forager / Call for varieties	Triticum aestivum	\$25.00	50# bag	\$0.50	\$	1.00
<u>Kind:</u>	Wildflowers & Conservation Mixes	<u>(notes)</u>	Seeding Rate / 1000 square feet	Price / oz.	Price per # (5# or more)	Prio	ce per 1#
Wildflower Mix	Southeastern Mix	Mix-SEMX (7-14#/A)	5 oz.	\$3.75	\$33.33	\$	40.00
Wildflower Mix	Southeastern Native Mix	Mix-SENA (10-20#/A)	7 oz.	\$6.19	\$55.00	\$	66.00
Wildflower Mix	Southeastern Value Mix	Mix-SEVM (7-14#/A)	5 oz.	\$3.00	\$26.67	\$	32.00
Wildflower Mix	Eastern Pollinator Mix	Mix-EAPM (12-24#/A)	9 oz.	\$12.19	\$108.33	\$	130.00
Wildflower Mix	Honey Bee Flower Mixture	Mix-HOMX (6-12#/A)	4 oz.	\$3.94	\$35.00	\$	42.00
Wildflower Mix	Bee Feed Mixture	Mix-BEEF (6-12#/A)	5 oz.	\$3.75	\$33.33	\$	40.00
Wildflower Mix	Bird & Butterfly Mix	Mix-BUMX (11-22#/A)	8 oz.	\$4.13	\$36.67	\$	44.00
Wildflower Mix	Beneficial Bug Mixture	Mix-BUGMX (9-18#/A)	7 oz.	\$3.75	\$33.33	\$	40.00
Wildflower Mix	Cut Flower Mix	Mix-CFMX (9-18#/A)	7 oz.	\$3.38	\$30.00	\$	36.00
Wildflower Mix	Knee-Hi Mix	Mix-KHMX (8-16#/A)	5 oz.	\$3.19	\$28.33	\$	34.00
Wildflower Mix	Golf Course Mix	Mix-GCMX (4-8#/A)	4 oz.	\$3.56	\$31.67	\$	38.00
Wildflower Mix	Shade Mix	Mix-SHMX (7-14#/A)	5 oz.	\$3.38	, \$30.00	\$	36.00
Wildflower Mix	Detension Basin Mix	Mix-DBWT (35#/A)	13 oz.	\$3.75	\$33.33	\$	40.00
Wildflower Mix	Wet Meadow Mix	Mix-WMWT (38#/A)	14 oz.	\$7.50	\$66.67	\$	80.00
Wildflower	Note: Call for indiviual species pricing		-			- '	
Wildflower	Black-eyed Susan	(Rudbeckia hirta) (2#/A)		\$3.00	\$26.67	\$	32.00
Wildflower	Purple Coneflower	(Echinacea purpurea)		\$5.40	, \$48.00	\$	57.60
Specialty Mix	Butterfly & Hummingbird Mix #179	Mix-ERNMX179 (7-10#/A)	8 oz.	\$6.59	\$58.60	\$	70.32
Call for specialt	y and custom seed mixtures, wildflowers, and w	etland seeds.		-		1	
<u>Kind:</u>	<u>Variety: (Legume Inoculants)</u>	<u>Botanical Name:</u>	(Treats)	<u>Unit</u>		P	Price:
N-DURE	INTX - Alfalfa & Clover Combo	Sinorhizobium meliloti + Rhizobium leguminosaraum biovar trifolii	50#	pack		\$	12.00
N-DURE	INTX - Arrowleaf Clover	Rhizobium Sp.	50#	pack		\$	12.50
Verdesian - OMRI listed	Guard-N / Garden Combo- Cowpeas , English Peas, Winter Peas, Vetch, Flat Pea, Soybeans, Summer Legumes	Rhizobium leguninosarum biovar viceae + Rhizobium leguminosarum biovar phaseoli + Bradyrhizobium spp.	50#	pack		\$	13.25
N-DURE	INTX - Soybeans	Bradyrhizobium japonicum	300#	pack		\$	14.95
N-DURE	Lupine (H)		100#	pack		\$	14.95
<u>Please Note:</u> A price and availa	II prices are subject to change and items are quo bility.	bted subject to availability. P	lease call	1-877-7	75-7826 to	o vei	rify

50# quantity packaging available for pickup at our warehouse or for shipping via truckline.



"The ABC's of Buying Seed" 325 E. 2nd St. / P.O. Box 19 Jackson, GA 30233

### Vegetable Seed Price List (Prices subject to change)

### Note: All items and prices are subject to availability.

February 25, 2020

### Please call to verify pricing as prices may change. We will ship as seeds arrive.

Kind:	Variety:	Days to Maturity	Retail Price	Unit Size	Price / oz.	5# bag Price	Wholesale Unit Price (5# min.)	50# bag Price	> 50# bag Price/#
Beans, Snap (Bush)	Blue Lake 274	56	\$ 4.80	1#	\$ 0.60	\$20.00	\$ 4.00	\$ 130.00	\$ 2.60
Beans, Snap (Bush)	Commodore	60	\$ 4.80	1#	\$ 0.60	\$20.00	\$ 4.00	\$ 145.00	\$ 2.90
Beans, Snap (Bush)	Contender	49	\$ 4.80	1#	\$ 0.60	\$20.00	\$ 4.00	\$ 115.00	\$ 2.30
Beans, Snap (Bush)	Golden Wax	50	\$ 4.80	1#	\$ 0.60	\$20.00	\$ 4.00	\$ 137.50	\$ 2.75
Beans, Snap (Bush)	Ky. Wonder 125 (White)	45	\$ 4.80	1#	\$ 0.60	\$20.00	\$ 4.00	\$ 135.00	\$ 2.70
Beans, Snap (Bush)	Roma II	59	\$ 4.80	1#	\$ 0.60	\$20.00	\$ 4.00	\$ 137.50	\$ 2.75
Beans, Snap (Bush)	Taylor Horticultural	60	\$ 4.80	1#	\$ 0.60	\$20.00	\$ 4.00	\$ 117.50	\$ 2.35
Beans, Snap (Bush)	Tendergreen	54	\$ 4.80	1#	\$ 0.60	\$20.00	\$ 4.00	\$ 137.50	\$ 2.75
Beans, Snap (Bush)	Green Crop	54	\$ 4.80	1#	\$ 0.60	\$20.00	\$ 4.00	\$ 137.50	\$ 2.75
Beans, Snap (Bush)	Top Crop	50	\$ 4.80	1#	\$ 0.60	\$20.00	\$ 4.00	\$ 135.00	\$ 2.70
Beans, Snap (Pole)	State White Half Runner	60	\$ 4.80	1#	\$ 0.60	\$20.00	\$ 4.00	\$ 130.00	\$ 2.60
Beans, Snap (Pole)	Blue Lake Pole	58	\$ 5.50	1#	\$ 0.69	\$22.90	\$ 4.58	\$ 150.00	\$ 3.00
Beans, Snap (Pole)	Ky. Wonder (Brown)	65	\$ 5.50	1#	\$ 0.69	\$22.90	\$ 4.58	\$ 150.00	\$ 3.00
Beans, Snap (Pole)	KY. Wonder 191 (White)	65	\$ 5.50	1#	\$ 0.69	\$22.90	\$ 4.58	\$ 152.50	\$ 3.05
Beans, Snap (Pole)	McCaslan	65	\$ 6.00	1#	\$ 0.75	\$25.00	\$ 5.00	\$ 155.00	\$ 3.10
Beans, Snap (Pole)	Pinto	100	\$ 5.20	1#	\$ 0.65	\$21.65	\$ 4.33	\$ 125.00	\$ 2.50
Beans, Snap (Pole)	Rattlesnake	65	\$ 6.00	1#	\$ 0.75	\$25.00	\$ 5.00	\$ 155.00	\$ 3.10
Beans, Lima (Bush)	Cangreen / Thorogreen	60	\$ 4.20	1#	\$ 0.53	\$17.50	\$ 3.50	\$ 115.00	\$ 2.30
Beans, Lima (Bush)	Dixie Butterpea, Speckled	76	\$ 4.20	1#	\$ 0.53	\$17.50	\$ 3.50	\$ 115.00	\$ 2.30
Beans, Lima (Bush)	Dixie Butterpea, White	75	\$ 4.20	1#	\$ 0.53	\$17.50	\$ 3.50	\$ 115.00	\$ 2.30
Beans, Lima (Bush)	Fordhook 242	78	\$ 6.20	1#	\$ 0.78	\$25.85	\$ 5.17	\$ 155.00	\$ 3.10
Beans, Lima (Bush)	Henderson	65	\$ 4.20	1#	\$ 0.53	\$17.50	\$ 3.50	\$ 115.00	\$ 2.30
Beans, Lima (Bush)	Jackson Wonder	65	\$ 4.20	1#	\$ 0.53	\$17.50	\$ 3.50	\$ 115.00	\$ 2.30
Beans, Lima (Pole)	Christmas (large speckled)	88	\$ 6.00	1#	\$ 0.75	\$25.00	\$ 5.00	\$ 160.00	\$ 3.20
Beans, Lima (Pole)	King of Garden (large)	88	\$ 6.00	1#	\$ 0.75	\$25.00	\$ 5.00	\$ 160.00	\$ 3.20
Beans, Lima (Pole)	Willow Leaf (white)	80	\$ 4.20	1#	\$ 0.53	\$17.50	\$ 3.50	\$ 115.00	\$ 2.30
Beets	Detroit Dark Red	58	\$ 17.00	1#	\$ 2.13	\$ 14.17	1#		
Beets	Early Wonder		\$ 17.00	1#	\$ 2.13	\$ 14.17	1#		
Broccolli	Waltham	85	\$ 22.00	1#	\$ 2.75	\$ 18.33	1#		
Brussel Sprouts	Brussel Sprouts	100	\$ 12.00	1/4#	\$ 6.00	\$ 10.00	1/4#		
Cauliflower	Snowbell Improved	68	\$ 14.00	1/4#	\$ 7.00	\$ 11.67	1/4#		
Cabbage	Charleston Wakefield	75	\$ 18.00	1#	\$ 2.25	\$ 15.00	1#		
Cabbage	Early Flat Dutch	75	\$ 18.00	1#	\$ 2.25	\$ 15.00	1#		
Cabbage	Late Flat Dutch	90	\$ 18.00	1#	\$ 2.25	\$ 15.00	1#		
Cabbage	Early Jersey Wakefield	62	\$ 18.00	1#	\$ 2.25	\$ 15.00	1#		
Cabbage	Round Dutch	70	\$ 24.00	1#	\$ 3.00	\$ 20.00	1#		
Cantaloupe	Edisto 47	95	\$ 26.00	1#	\$ 3.25	\$ 21.67	1#		
Cantaloupe	Hales Best Jumbo	90	\$ 24.00	1#	\$ 3.00	\$ 20.00	1#		
Cantaloupe	Honey Dew	110	\$ 26.00	1#	\$ 3.25	\$ 21.67	1#		
Cantaloupe	Rocky Ford (Green Flesh)	92	\$ 30.00	1#	\$ 3.75	\$ 25.00	1#		
Carrots	Chantenay Red Cored	70	\$ 26.00	1#	\$ 3.25	\$ 21.67	1#		
Carrots	Danvers	75	\$ 26.00	1#	\$ 3.25		1#		
Carrots	Imperator	77	\$ 35.00	1#	\$ 4.38		1#		
Collards	Georgia	80	\$ 7.80	1#	\$ 0.98	\$32.50	\$ 6.50	\$ 200.00	\$ 4.00
Collards	Morris Heading	80	\$ 11.40	1#	\$ 1.43		\$ 9.50		
Collards	Vates	75	\$ 11.40	1#	\$ 1.43		\$ 9.50	\$ 316.67	
Cucumber	Ashley	70	\$ 26.00	1#	\$ 3.25		1#		
Cucumber	Long Green	60	\$ 26.00	1#	\$ 3.25		1#		
Cucumber	Poinsett	66	\$ 26.00	1#	\$ 3.25		1#		
Cucumber	National Pickling	60	\$ 26.00	1#	\$ 3.25		1#		
Cucumber	Spacemaster	60	\$ 40.00	1#	\$ 5.00	1. Sec.	1#		
Cucumber	Straight Eight	63	\$ 26.00	1#		\$ 21.67			



2/25/2020 Page 9

Adams-Briscoe Seed Company "The ABC's of Buying Seed" 325 E. 2nd St. / P.O. Box 19 Jackson, GA 30233

ACCOUNT DIORGIA		ouono	on, c	5A 302	00					-		
		Days to			Unit	Price /	5# bag		olesale t Price	50# bag		50# bag
Kind:	Variety:	Maturity	Reta	ail Price	Size	OZ.	Price	(51	# min.)	Price	F	Price/#
Cucumber	White Wonder		\$	37.00	1#	\$ 4.63	\$ 30.83	1#				
Cucumber	Tasty Green Hybrid- <i>Burpless</i>	72	\$	35.00	15 pk	\$ 2.33	\$ 29.17	15	pk			
Corn - Hybrid	Golden Queen Hybrid-Yellow	95	\$	26.00	1#	\$ 3.25	\$108.35	\$	21.67	\$ 842.50	\$	16.85
Corn - Hybrid	Sweet G-90 (Bi-Color)		\$	24.80	1#	\$ 3.10	\$103.35	\$	20.67	\$ 810.00	\$	16.20
Corn - Hybrid	Peaches & Cream (Bi-Color)		\$	27.20	1#	\$ 3.40	\$113.35	\$	22.67	\$ 825.00	\$	16.50
Corn - Hybrid	Silver King Hybrid-White		\$	30.00	1#	\$ 3.75	\$150.00	\$	25.00	\$ 997.50	\$	19.95
Corn - Hybrid	Silver Queen Hybrid-White	95	\$	25.00	1#	\$ 3.13	\$125.00	\$	20.83	\$ 835.00	\$	16.70
Corn - Open Pollinated	Hickory King-White	90	\$	3.70	1#	\$ 0.46	\$15.40	\$	3.08	\$ 72.50	\$	1.45
Corn - Open Pollinated	Indian Corn (ornamental)		\$	5.80	1#	\$ 0.73	\$24.15	\$	4.83	\$ 165.00	\$	3.30
Corn - Open Pollinated	Moseby's Prolific-White		\$	3.60	1#	\$ 0.45	\$15.00	\$	3.00	\$ 78.33	\$	1.57
Corn - Open Pollinated	Pencil Cob -White		\$	3.70	1#	\$ 0.46	\$15.40	\$	3.08	\$ 72.50	\$	1.45
Corn - Open Pollinated	Reids Yellow Dent -Yellow	80	\$	3.70	1#	\$ 0.46	\$15.40	\$	3.08	\$ 72.50	\$	1.45
Corn - Open Pollinated	South American Popcorn-y	103	\$	5.80	1#	\$ 0.73	\$24.15	\$	4.83	\$ 165.00	\$	3.30
Corn - Open Pollinated	Truckers Favorite White	77	\$	3.70	1#	\$ 0.46	\$15.40	\$	3.08	\$ 72.50	\$	1.45
Corn - Open Pollinated	Truckers Favorite <b>Yellow</b>	95	\$	3.70	1#	\$ 0.46	\$15.40	\$	3.08	\$ 72.50	\$	1.45
Cowpeas (Southern)	Big Boy	60	\$	7.00	1#	\$ 0.88	\$29.15	\$	5.83	\$ 192.50	\$	3.85
Cowpeas (Southern)	Brown Crowder	58	\$	7.00	1#	\$ 0.88	\$29.15	\$	5.83	\$ 192.50	\$	3.85
Cowpeas (Southern)	California Blackeye #5	60	\$	4.80	1#	\$ 0.60	\$20.00	\$	4.00	\$ 133.33	\$	2.67
Cowpeas (Southern)	Cream 40	60	\$	6.80	1#	\$ 0.85	\$28.35	\$	5.67	\$ 175.00	\$	3.50
Cowpeas (Southern)	Dixie Lee	54	\$	6.80	1#	\$ 0.85	\$28.35	\$	5.67	\$ 182.50	\$	3.65
Cowpeas (Southern)	Iron-Clay Mixed		\$	4.80	1#		\$20.00	\$	4.00	\$ 66.67	\$	1.33
Cowpeas (Southern)	Lady Peas	60	\$	6.80	1#	\$ 0.85	\$28.35	\$	5.67	\$ 185.00	\$	3.70
Cowpeas (Southern)	Mississippi Silver	55	\$	6.80	1#	\$ 0.85	\$28.35	\$	5.67	\$ 167.50	\$	3.35
Cowpeas (Southern)	Mississippi Purple		\$	7.20	1#	\$ 0.90	\$30.00	\$	6.00	\$ 185.00	\$	3.70
Cowpeas (Southern)	PH-Knuckle Purple Hull	60	\$	6.80	1#	\$ 0.85	\$28.35	\$	5.67	\$ 185.00	\$	3.70
Cowpeas (Southern)	PH-Pinkeye Purple Hull	50	\$	6.20	1#	\$ 0.78	\$25.85	\$	5.17	\$ 147.50	\$	2.95
Cowpeas (Southern)	Red Ripper		\$	5.60	1#	\$ 0.70	\$23.35	\$	4.67	\$ 135.00	\$	2.70
Cowpeas (Southern)	SaDandy		\$	6.80	1#	\$ 0.85	\$28.35	\$	5.67	\$ 185.00	\$	3.70
Cowpeas (Southern)	Top Pick Pinkeye PH	50	\$	7.00	1#	\$ 0.88	\$29.15	\$	5.83	\$ 212.50	\$	4.25
Cowpeas (Southern)	Top Pick Brown Crowder		\$	7.00	1#	\$ 0.88	\$29.15	\$	5.83	\$ 212.50	\$	4.25
Cowpeas (Southern)	Top Pick Cream		\$	7.00	1#	\$ 0.88	\$29.15	\$	5.83	\$ 212.50	\$	4.25
Cowpeas (Southern)	White Acre		\$	7.20	1#	\$ 0.90	\$30.00	\$	6.00	\$ 187.50	\$	3.75
Cowpeas (Southern)	Zipper Cream	66	\$	8.00	1#	\$ 1.00	\$33.35	\$	6.67	\$ 210.00	\$	4.20
English Peas	Early Alaska	56	\$	4.20	1#	\$ 0.53	\$17.50	\$	3.50	\$ 87.50	\$	1.75
English Peas	Green Arrow	67	\$	4.20	1#	\$ 0.53	\$17.50	\$	3.50	\$ 95.00	\$	1.90
English Peas	Sugar Snap	70	\$	4.80	1#	\$ 0.60	\$20.00	\$	4.00	\$ 112.50	\$	2.25
English Peas	Thomas Laxton	62	\$	4.20	1#	\$ 0.53	\$17.50	\$	3.50	\$ 112.50	\$	2.25
English Peas	Wando	70	\$	4.20	1#	\$ 0.53	\$17.50	\$	3.50	\$ 95.00	\$	1.90
English Peas	Willet Wonder	65	\$	4.80	1#	\$ 0.60	\$20.00	\$	4.00	\$ 112.50	\$	2.25
Eggplant	Black Beauty	80	\$	16.00	1/4#	\$ 8.00	\$ 13.33	1/4	#			
Gourd	Birdhouse / Bottle		\$	60.00	1#	\$ 7.50	\$ 50.00	1#		1		
Gourd	Dipper, Long Handle		\$	60.00	1#	\$ 7.50		1#				
Gourd	Luffa Sponge Gourd		\$	60.00	1#	\$ 7.50		1#				
Kale	Dwarf Siberian	65	\$	9.20	1#	\$ 1.15	\$38.35	\$	7.67	\$ 216.67	\$	4.33
Kohlrabi	White Vienna		\$	18.80	1#		\$ 15.67	1#	-		·	
Lettuce	Bibb	40-50	\$	22.00	1#	\$ 2.75	\$ 18.33	1#				
Lettuce	Black Seeded Simpson	45	\$	22.00	1#	\$ 2.75		1#				
Lettuce	Butter Crunch	66	\$	19.00	1#	\$ 2.38		1#				
Lettuce	Romaine - Paris Island	80-85	\$	22.00	1#	\$ 2.30 \$ 2.75	1. Sec.	1#				
Lettuce	Salad Bowl	40-50	ֆ \$	22.00	1#	\$ 2.75 \$ 2.75		1#				
Lettuce	Great Lakes	40-50 80	ծ \$	52.00	1#	\$ 2.75 \$ 6.50		1#				
Lettuce	Iceberg	85	ֆ \$	22.00	1#	\$ 0.50 \$ 2.75	1. Sec.	1#				
	ů.								7 00	¢ 166.67	•	0.00
Mustard Mustard	Florida Broadleaf	45-50	\$	9.00	1#	\$ 1.13	\$36.00	\$	7.20	\$ 166.67 \$ 166.67		3.33
Mustard Mustard	Southern Giant Curled	45	\$	9.00	1#	\$ 1.13	\$36.00	\$ ¢	7.20	\$ 166.67 \$ 166.67		3.33
Mustard	Tendergreen	35-40	\$	9.00	1#	\$ 1.13	\$36.00	\$	7.20	\$ 166.67		3.33
Okra	Clemson Spineless	55-60	\$	5.63	1#	\$ 0.70	\$22.50	\$	4.50	\$ 136.67		2.73
Okra	Dwarf Long Greenpod	50-55	\$	5.84	1#	\$ 0.73	\$23.35	\$	4.67	\$ 208.33		4.17
Okra	Red Burgundy	55	\$	8.75	1#	\$ 1.09	\$35.00	\$	7.00	\$ 233.33	\$	4.67

website: www.abseed.com e-mail: abseed@juno.com



2/25/2020 Page 10

Adams-Briscoe Seed Company "The ABC's of Buying Seed" 325 E. 2nd St. / P.O. Box 19 Jackson, GA 30233

Kind:	Variety:	Days to Maturity	Ret	ail Price	Unit Size	Price / oz.	5# bag Price	Whol Unit I (5# r	Price		# bag Price		i0# bag rice/#
Pepper	California Wonder (Bell)	72-75	\$	28.00	1/4#	\$ 14.00	\$ 23.33	1/4#					
Pepper	Hungarian Wax Hot	65	\$	28.00	1/4#	\$ 14.00	\$ 23.33	1/4#					
Pepper	Sweet Banana	63	\$	28.00	1/4#	\$ 14.00	\$ 23.33	1/4#					
Pepper	Jalapeno	72	\$	28.00	1/4#	\$ 14.00	\$ 23.33	1/4#					
Pepper	Long Slim Cayenne	70-75	\$	28.00	1/4#	\$ 14.00	\$ 23.33	1/4#					
Pumpkins	Big Max	120	\$	27.00	1#	\$ 3.38	\$ 22.50	1#					
Pumpkins	Connecticut Field	115	\$	23.00	1#	\$ 2.88	\$ 19.17	1#					
Pumpkins	Jack O Lantern	100	\$	23.00	1#	\$ 2.88	\$ 19.17	1#					
Pumpkins	New England Pie	100	\$	23.00	1#	\$ 2.88	\$ 19.17	1#					
Pumpkins	Mammoth Gold	105	\$	27.00	1#	\$ 3.38	\$ 22.50	1#					
Radish	Scarlet Globe	23	\$	15.00	1#	\$ 1.88	\$ 12.50	1#					
Radish	Sparkler White Tipped	25	\$	15.00	1#	\$ 1.88	\$ 12.50	1#					
Radish	Cherry Belle	23	\$	15.00	1#	\$ 1.88	\$ 12.50	1#					
Radish	White Icicle	27	\$	15.00	1#	\$ 1.88	\$ 12.50	1#					
Rape	Dwarf Essex	65	\$	7.91	1#	\$ 0.99	\$31.65	\$	6.33	\$	58.33	\$	1.17
Rutabaga	American Purple Top	90	\$	9.40	1#	\$ 1.18	\$37.60	\$	7.52		208.33	\$	4.17
Spinach	Bloomsdale Long Standing	45	\$	14.00	1#	\$ 1.75	\$ 11.67	1#		Ť		•	
Swiss Chard	Fordhook	10	\$	14.00	1#	\$ 1.75	\$ 11.67	1#					
Squash	Acorn, Royal Table Queen	80-85	Ψ \$	24.00	1#	\$ 3.00	\$ 20.00	1#					
Squash	Butternut, Waltham	110	э \$	24.00	1#	\$ 3.00 \$ 3.25	\$ 20.00 \$ 21.67	1#					
Squash	Dixie Hybrid (crookneck)	110	φ \$	30.00		φ 3.20	\$ 25.00	1 <del>//</del> 15 pl	k				
Squash	Early Yellow Crookneck	50	э \$	19.50	15 pk 1#	\$ 2.44	\$ 25.00 \$ 16.25	15 pi 1#					
Squash	Early Yellow Straightneck	50	φ \$	19.50	1#	\$ 2.44 \$ 2.44	\$ 16.25 \$ 16.25	1#					
Squash	White Bush Scallop	52	φ \$	24.00	1#	\$ 2.44 \$ 3.00	\$ 20.00	1#					
Squash	Vegetable Spaghetti	52	φ \$	30.00	1#	\$ 3.00 \$ 3.75	\$ 20.00 \$ 25.00	1#					
Squash	Zucchini, Black	62	φ \$	24.00	1#	\$ 3.00	\$ 20.00	1#					
Tomato	Beefsteak	78	Ψ \$	50.00	1/2#		\$ 41.67	1/2#					
Tomato - Hybrid	Better Boy, Big Boy, Celebrity	10	э \$	32.00	1/2# 15 pk	\$12.50	\$ 26.67	1/2# 15 p	k				
Tomato	Large Red Cherry		φ \$	50.00	тэрк 1/2#	\$12.50	\$ 20.07 \$ 41.67	1/2#					
Tomato	Homestead	80	φ \$	50.00	1/2#	\$12.50	\$ 41.67	1/2#					
Tomato	Marglobe	77	φ \$	50.00	1/2#	\$12.50	\$ 41.67	1/2#					
Tomato	Marion	82	φ \$	50.00	1/2#	\$12.50	\$ 41.67	1/2#					
Tomato	Roma VF	75	φ \$	50.00	1/2#	\$12.50	\$ 41.67	1/2#					
Tomato	Rutgers	80	φ \$	50.00	1/2#	\$12.50	\$ 41.67	1/2#					
Turnips	Purple Top - White Globe	57	Ψ \$	6.00	1/2#	\$ 0.75	\$25.00	\$	5.00	¢	116.67	¢	2.33
	Just Right Hybrid	57	φ \$	240.00	1#		\$ 200.00	Ψ 1#	5.00	Ψ	110.07	Φ	2.30
Turnips	- · ·	45				\$30.00			5.00	<b>^</b>	4 4 5 00		
Turnips	Seventop	45	\$	6.00	1#	\$ 0.75	\$25.00	\$	5.00		145.00	\$	2.90
Turnips	Shogoin	42	\$	6.00	1#	\$ 0.75	\$25.00	\$	5.00		145.00		2.90
Turnips	White Egg	50	\$	6.00	1#	\$ 0.75		\$	5.00	\$	145.00	\$	2.90
Watermelon	Black Diamond Yellow Belly	90	\$	29.00	1#	\$ 3.63							
Watermelon	Charleston Grey	85	\$	29.00	1#	\$ 3.63		1#					
Watermelon	Congo	90	\$	29.00	1#		\$ 24.17	1#					
Watermelon	Crimson Sweet	90	\$	36.00	1#	\$ 4.50		1#					
Watermelon	Jubilee	90	\$	29.00	1#	\$ 3.63							
Watermelon	Sugar Baby	73	\$	29.00	1#	\$ 3.63		1#					
Watermelon	Tendersweet (Yellow Meat)	90	\$	29.00	1#	\$ 3.63	\$ 24.17	1#					

Jackson, GA 30233

#### Phone: (770) 775-7826 FAX: (770) 775-7122 e-mail: abseed@juno.com

<u>Item:</u>	<u>Rate(#'s) /</u> <u>Acre:</u>	<u>Planting</u> depth (in.)	<u>Planting</u> <u>Time:</u>	Notes and Comments:
"ABC" Custom Seed Mixes	TBD	TBD	TBD	We offer custom blending of seeds to our customers specifications. We will galdly help you formulate your mixes with the proper ratios of each seed variety for maximum performance and offer you a suggested seeding rate to conserve on cost. Feel free to give us a call.
"ABC" CRP Mix (NWSG/Forb Mix)	6#PLS	1/4"	Spring	A Mixture of Big Bluestem, Little Bluestem, Indiangrass, Switchgrass, and Partridge Peas for use on CRP- CP36/CP33 land or to provide quail and wildlife habitat. May be broadcast seeded or planted with a NWSG drill. Cover only 1/8" - 1/4" deep.
"ABC" Bee Kind Blend	20#	1/4"	Fall	A mixture of Buckwheat, Dixie Reseeding Crimson Clover, Fixation Balansa Clover, and Yellow Blossom Sweetclover. A great food source for Honey Bees and an excellent mix to ad to wildlife food plots in the Fall or Late Winter.
"ABC" DEER DELIGHT BRASSICA Blend (Fall Mix)	10#	1/4-1/2"	Fall or Spring	<b>BRASSICA</b> – This is the family of "greens" known as Turnips, Rape, Kale, Diakon Radish & Swede. May be planted in the Spring when soil temperatures reach 50 degrees or planted in the Fall when the weather begins to cool off. Fertilize with 200-225# of Ammonium Nitrate (or equivalent) at seeding. Additional nitrogen may be applied to stimulate re-growth later in the season as needed.
"ABC" DEER/TURKEY MIXTURE - Fall (ANNUAL)	75#	1/2-1"	AugOct	A mixture of Austrian Winter Peas, Wrens Abruzzi Rye, Wheat, Dixie Reseeding Crimson Clover, Hairy Vetch, & Oats. Fertilize same as above.
"ABC" DEER/TURKEY MIXTURE - Fall (PERENNIAL)	35#	1/2-1"	AugOct	A Mix of Berseem Clover, RegalGraze Ladino Clover, Osceola Ladino Clover, White Dutch Clover, Kenland Red Clover, Dixie Reseeding Crimson Clover, Austrian Winter Peas, Hairy Vetch, Wrens Abruzzi Rye, & Wheat. Fertilize & Lime according to soil test or apply 600# 10-10-10 + 50# Ammonium Nitrate per Acre. Also Lime at a rate of 1-2 Tons/Acre (more if needed).
"ABC" DEER/TURKEY MIX - Spring	35#	1/2-1"	April - Aug.	A blend of Aeschynomene, Chufa, Pensacola Bahiagrass, White Proso Millet, Milo, Ladino Clover, White Clover, Cowpeas.
"ABC" DEER MIX - Spring	35#	1/2-1"	April - Aug.	A blend of Aeschynomene, Soybeans, Buckwheat, Cowpeas, Ladino Clover, Millet, Chufa, Alfalfa, White Dutch Clover, Lespedeza, Delar Small Burnett, & Sainfoin.
"ABC" DEER MIX - Summer	30#	1/2-1"	April - Aug.	A blend of Soybeans, Cowpeas, Browntop Millet, Sunflowers, Grain Sorghum, and Buckwheat. Plant late Spring through early Fall. Helps attract and keep deer around for rearly bow season.
"ABC" DOVE MIX	30#	1/2-1"	May - Aug.	A mixture of Millets, Sunflowers, Grain Sorghum, & Buckwheat. Fields should be 5-10 Acres. Large Fields can be planted if field is long & narrow. If hunters are posted on both sides, fields should be 100 yards wide. Fields should be near good water supply. Limit hunts to once or twice a week. Fertilize with 400 # 10-10-10 per AcreLime if needed
"ABC" Economy Fall Wildlife Mix	100#	1/2 - 1"	Fall	A mix of Wheat, Oats, Rye (grain), Austrian Winter Peas, and Crimson Clover. Plant at a rate of 100# per Acre or use as a base and add some of our clovers and brassicas for a premium food plot.
"ABC" Fall Overseeder Mix	60#	1/4" - 1/2"	Fall	A mix of Wheat, Rye, Ryegrass, Rape, Crimson Clover, and Arrowleaf Clover. Offers quick cover without a lot of tillage required. Does best when soil is scarified, but can be "overseeded" without breaking up the ground if the soil is not too hard and compacted.
"ABC" Over-The-Top Mix	20#	1/4"	Fall	A mix for those who want to throw and go. A great plot mix for places with little soil cultivation. Mix contains Attain Tetraploid Ryegrass, Frosty Berseem Clover, and Trophy Rape.
"ABC" GA. WILDLIFE DELIGHT - Fall Mix	35#	1/2-1"	Aug Nov.	Our own blend of perennials and annuals. For all types of wildlife. Plant open fields, forest openings, logging roads, logging loading docks, fire trails, utility lines, and edges of fields. Fertilize same as above.
"ABC" GA. WILDLIFE DELIGHT - Spring Mix	35#	1/2-1"	April - July	Our own blend of seeds that will attract and maintain quail, doves, deer, turkey, & rabbits. Plant in open spots in forest, logging roads, fire trails, and along edges of woods. Work up ground with disk, plow or roto tiller. The best-proven mixture planted in Spring and Summer.
"ABC" QUAIL MIX	35#	1/2-1"	Spring	A mixture of Hegari, Millets, Sunflowers, Buckwheat, Egyptian Wheat, (Kobe or Korean) Lespedeza, Sunn Hemp, & Bobwhite Soybeans. Plant in small fields, in wood loading docks, along side of roads. Provide 1/8 - 1/4 Acre food plots for each covey.
"ABC" HUNTERS CHOICE CLOVER MIX	15#	1/4"	Fall or Spring	A mix of Re-seeding Annual, Bi-Annual, and Perennial Clovers. May be planted as a pure stand or used to "Sweeten up" food plots. Check soil pH and lime if needed a pH of 6.5 recommended. Fertilize with 200# 0-20-20 / A.
"ABC" LOGICAL ALTERNATIVE Mix	10#	1/4"	Fall	A blend of Rape, Canola, Chicory, Red Clover, & White Clover. A very good mix to be planted by itself or added to enhance a lesser quality mix or food plot. Fertilize with 400# 5-10-15 per Acre + 1 Ton Lime per Acres if needed
"ABC" Sweet Alternative	30#	1/4"	Fall	A blend of Tetraploid Ryegrass, Berseem Clover, Balansa Clover, Dixie Crimson Clover, Turnips, and Diakon Radish. Will tolerate overseeding with minimal cultivation.
"ABC" Summer Cover Mix	45#	1/2"	May-Aug.	A mixture of Soybeans, Cowpeas, Buckwheat, and Sunn Hemp (inoculated). Great as a Summer Cover Crop for horticultural use or as an attractant for early Fall Deer season for bow hunters.
AESCHYNOMENE (American Jointvetch)	20#	1/4"	March - July	A reseeding annual legume. Does well in low wet land even subject to flooding. Good for deer, cattle, ducks, quail & doves. Very high in protein. Mature plants reach 3-6 ft. Early growth is slow. Game will forage in 6-8 weeks. For excellent results plant with grain sorghum.
ALFALFA	20-30#	1/4 "	Fall or Spring	An excellent Perennial legume which is high in protein. May be planted alone or added to perennial mixes. Alfalfa is very pH sensitive, so soil test and lime accordingly to obtain a 6.5-7 pH. Nitrogen is not required on an establishe stand, however a balanced starter fertilizer would be benificial until the plant begins to fix nitrogen. Be sure to plant inoculated seed.

Jackson, GA 30233

### Phone: (770) 775-7826 FAX: (770) 775-7122 e-mail: abseed@juno.com

<u>Item:</u>	<u>Rate(#'s) /</u> <u>Acre:</u>	<u>Planting</u> depth (in.)	<u>Planting</u> <u>Time:</u>	Notes and Comments:
ALYCECLOVER	15-20#	1/2 "	April - July	A Summer annual legume, maturing seed in October. An excellent deer browse especially when mixed with Cowpeas. Inoculate seed with type EL inoculant. Not sensitive to soil pH.
BAHIAGRASS, Pensacola	15-20#	1/2"	Spring	Turkey, quail & doves feed on the small seed heads. Deer feed on the foliage.
BAHIAGRASS, TifQuick	10#	1/2"	Spring	A quicker emerging and faster growing variety developed after Tifton 9.
BAHIAGRASS, Tifton 9	10#	1/2"	Spring	An improved variety of Pensacola Bahiagrass developed in Tifton, GA. Yields better quaility forage than common Pensacola and produces more volume.
Barley	96#	2"	Fall	Sensitive to acidic soils
Bermudagrass	10-15#	0-1/2"	Spring/Fall	Plant "Hulled" seed in the Spring & Summer and "Unhulled" seed in the Fall & Winter. For lawns plant 1- 2# per 1,000 square feet.
BIG BLUESTEM	6#PLS**	1/4"	Spring	Big Bluestem is a native, warm season perennial, tall grass. It spreads by underground stems and rhizomes. Big Bluestem's dense root system saturates the top two feet of soil and may reach depths of up to twelve feet.
BIRDSFOOT TREFOIL	6-8#	1/4 "	March /Oct.	The most productive sights for Big Bluestem have been found on the medium to tight soil in the Great Plains and Midwest. Growth in Big Bluestem begins in early April, growing three to eight feet tall and grows to late October.
BROMEGRASS - Lakota	25-60#*	1/2-1"	Fall or Spring	Seeding in early Fall or Spring is recommended. When planted with Alfalfa, Clover or Chicory seed at 25- 30#/A or at 50-60#/A when planted alone. Much more attractive to deer than most other perennial grasses such as Fescue.
BUCKWHEAT	40-50#	1"	April - July	Produces an abundance of seed in 70-80 days. Holds seed well on stalk long after ripening. Does well in any type of soil, poor, fertile, peat, sand, clay or loam. Good for quail, doves, turkey, ducks, & deer.
BUNDLEFLOWER, ILLINOIS	2#	1/2"	April - Aug.	A warm season perennial legume. Provides food and cover for wildlife and forage for livestock. Grows 3- 4' tall. Has about 64,000 seed per pound. Grows almost anywhere in the SW, West, & S.E. Plant 1/4 - 3/4" deep April-August. Excellent for quail, dove, turkey, & deer.
CANARYGRASS, Reed	10-12#	1/4-1/2"	April-July	A perennial which provides food, cover in winter, and nesting for waterfowl & other gamebirds. Stands drought or flooding. Plant dykes, banks or dams. Excellent for deer, horses, or cattle. Grows 3-6' tall.
Canola ("ABC" "DEER SALAD")	10#	1/4-1"	Fall	Canola is in the Rape family. Grows like turnips. Deer love the lush leafy "greens". Plant in the Fall and it grows all winter. Fertilize with 400# 10-10-10 per Acre (or equivilant)
Carpetgrass	5-10#	0-3/4"	Spring	Does well on moist but well drained soils.
CHICORY	5# alone / 3# in mix	1/4"	Spring or Early Fall	A plant that provides both protein and sugars for animals, depending on the stage of growth. Also cover for birds when it bolts to flower. Protein levels may vary from 10 - 32% depending on plant maturity. This plant is a survivor and requires minimal care. A pH of 5.5 or higher is needed and it performs best if fertilized or planted with a legume to supply nitrogen. Plant $1/4 - 1/2^{n}$ deep in firm seed bed. For good
CHUFA	15-30#/A	1-2"	April - Summer	Excellent for deer, turkey & hogs. Grows like peanuts except does not have a shell. Wildlife will scratch and dig the up once they find the tubers, which mature in 100-120 days. Plant in plots of at least 1/4 A. Plant April through late Summer depending on location.
Clover, Alsike	5-10#	0-3/4"	Spring / Fall	
CLOVER, ARROWLEAF - Yuchi, Apache, Black Hawk	8-12#/A	0-1/2"	Aug - Nov	An annual clover which re-seeds well. It will grow to heights of 24" to 60". A heavy foliage and seed producer. High in protein it has become very popular for wildlife. It has a long growing season going well into Summer.
CLOVER, BALL	3-4#	0-1/4"	Sept-Nov	"Ball clover has excellent reseeding ability because it can produce seed under grazing that is over 60% hard seed. It has small ovate leaflets and small white to yellow-white flowers. Seed are very small with 1 million count per pound. Ball clover does best on level, fine sandy loam and clay loam soils that maintain good soil moisture. Seedling vigor is poor because of the small seed size. It should be mixed with annual ryegrass to reduce bloat problems." - Texas AgriLife Research and Extension Center at Overton
CLOVER, BIGBEE BERSEEM -	D=8-12#/A B=15-20#	1/4"	Fall or Spring	A reseeding annual clover. Does well when mixed with other clovers spread out growing season and increase available forage for animals. Plant in Fall or Spring @ 8-10#/A.
CLOVER, CRIMSON - Dixie Reseeding	20#	0-1/2"	Aug - Nov	A reseeding annual clover developed by the Ga. Experiment Station at Griffin. We were the first commercial producers of these seed over 40 years ago. Plant 20#/A. alone or 12-15#/A. with 2 bu. oats, 1.5 bu. Rye or wheat, and 20# Ryegrass in August- November.
CLOVER, LADINO - "ABC Mix"	5-10#	0-1/4"	Fall or Spring	Our own mixture of Ladino (White) Clovers.
CLOVER, LADINO - Osceola	5-10#	0-1/4"	Fall or Spring	Developed by University of Florida. Is well adapted for the deep South. Excellent for deer, turkey, and other wildlife
CLOVER, LADINO - Regal	5-10#	0-1/4"	Fall or Spring	A perennial clover developed by Auburn University. Excellent for deer, turkey, and other wildlife. Available "Raw" (natural) or "Coated" (Pre-Inoculated).
CLOVER, RED	D=6-8# B=10-15#	0-1/2"	Fall or Spring	Very popular clovers. They have deep root systems, produce high forage yields, and are superior soil builders. Plant Fall or Spring @12-15#/A.
CLOVER, SUBTERRANEAN	12-15#	0-1/2"	Aug - Dec	One of the finest clovers you can plant. It is an annual that re-seeds very well even under heavy grazing. Brought to this country from Australia it has been used in the South for over 50 years. When seeded in timber land it provides nitrogen for tree growth. Plant August-December @ 12-15#/A. A good mix would be to add 20# of Ryegrass to the clover.

#### Jackson, GA 30233 Phone: (770) 775-7826 FAX: (770) 775-7122 e-mail: abseed@juno.com

<u>Item:</u>	<u>Rate(#'s) /</u> <u>Acre:</u>	<u>Planting</u> depth (in.)	<u>Planting</u> <u>Time:</u>	Notes and Comments:
CLOVER, WHITE DUTCH -	5-10#	0-1/4"	Fall or Spring	A very old and widely used perennial clover. Provides food for all game. Plant in old logging roads, trails, or open patches in woods. Deer, rabbits, quail, grouse, and other birds will benefit.
CORN, DWARF EXTRA EARLY -	8-10#	2"	March-July	Matures in 65 days. Plant around ponds for ducks. Grows 3-4 ft. tall making it accessible to game birds & waterfowl.
CORN, QUAIL –	8-10#	2"	March-July	A corn with wildlife in mind. It grows and looks like popcorn, but was developed to reduce the risk of afflotoxin harming the animals that consume it. This corn does not develop afflotoxin as readily as conventional corn. The kernel size is also "bite-sized" for small birds. Plant as you would any corn crop, but remember the seed are small. There are more kernels in a pound of seed.
COWPEAS, Southern Peas - COMBINE (RESEEDING TYPE)	D=15-45# B=30-120#	2"	April-August	Good for late Summer and early Fall quail food. Plant with Dove Proso Millet, Browntop Millet, or alone. Ducks enjoy when flooded with a few inches of water. Deer and rabbits like the tender foliage.
COWPEAS, Southern Peas - IRON- CLAY MIXED	D=15-45# B=30-120#	2"	April-August	Excellent for quail, dove & deer. Produces forage in 45 days, mature seed in 100 days.
CROWNVETCH -	5-15#/A	1/4"	Fall or Spring	Spreads by seed, stolens, & rhizomes. Will grow from Alaska to Africa. Excellent for beautification. Permanent ground cover. Chokes out weeds. Good for quail, dove, & deer. Plant < 1/4" deep.
DELAR SMALL BURNETT -	15-20#/A	1/2"	April-July	A perennial evergreen. Grows well anywhere except wet soil. Gets about 18" tall. Birds, deer or cattle feed on seed or leaves. Stays green all winter.
DUCK WHEAT <i>(TARTARY</i> BUCKWHEAT) -	35-50#/A	1/2"	May-Sept.	Produces abundance of seed in 45 days and continues until frost. Small Seeded, grows in any type soil, poor fertile, mud, peat, sand, or clay.
FESCUE, Tall (Ky 31)	35#	1/2-1"	Fall or Spring	Use for lawns, pastures or soild stabilization. Will grow on wet land.
FESCUE, Tall Turf Type (Titan RX)	5-10# per 1000 sf	1/2-1"	Fall or Spring	Great for lawns above the "Fall Line" in Georgia.
FLORIDA BEGGARWEED -	5#	0-1/4"	March-June	Excellent for all birds. An old time favorite. Grows most anywhere. Matures in 150 days.
INDIANGRASS	5#PLS**	1/4"	Spring	Indiangrass is a warm season bunchgrass, native to most of the United States. It spreads by seed and scaly underground rhizomes. This perennial produces a tall robust, vigorous plant, 3 to 8 feet tall, with wide bluegreen leaves and panicles 8 to 12 inches long that are bronze in color.
KUDZU -	1,000 Crowns/A		Transplant while dormant	"The vine that ate the South." Excellent for erosion control. Very high in protein. Good food source for deer, goats or cattle. It should be planted where it can be controlled. Call for information.
LAB LAB -	10#	1-2"	Spring- Summer	A Summer annual legume that produces high quality forage for livestock and deer. A tropical plant that is very heat and drought tolerant and adapted to warm regions of the Southeast and Texas. Lab Lab may be grown with forage sorghum, millet, or sorghum-sudangrass. The high quality legume is ideal for food plots, especially for deer. To establish Lab Lab for wild game food plots disc, smooth, and firm seed bed and plant 10#/A. Plant inoculated seed in 38" rows 6"-8" apart. For wild game plots you may want to plant with corn, millet, or sorghum to allow plants to establish. Adapted to partially dry conditions to occasional water logging. Produces abundant forage throughout the Summer and until frost.
LESPEDEZA, BI-COLOR -	8-15#	1/4"	Feb-April	A perennial shrub Lespedeza that is the best food & cover plant for quail and other game birds. Seed are very attractive. Plant 12-15#/A. rate in strips approximately 20' wide March-July. In addition to Bi-Color 101 we also have available Attaway & AmQuail Thunbergii Lespedeza. Plants are also available for these for planting December through early March. These should be planted in 3'rows and spaced approximately 3' apart in the row.
LESPEDEZA, KOBE STRIATE -	35#	1/4-1"	Feb-April	Widely used as a good food and cover for quail and dove. Plant in Spring in patches and strips near bush, wooded areas, and water. Grows 24-30" tall. Heavy seed producer.
LESPEDEZA, KOREAN -	35#	1/4-1"	Feb-April	Plant like Kobe. Grows 15" tall. Heavy Seeder.
LESPEDEZA, Sericea	D=6-8# B=15-20#	1/4-1"	Feb-May	Used for erosion control, forage, and wildlife habitat.
LITTLE BLUESTEM	4#PLS**	1/4"	Spring	Little Bluestem is a native, warm season perennial, medium height grass. Growth begins in early April, growing two to three feet tall. Planting rate is 3 1/2 to 4 1/2 pure live seed pounds per acre 1/4 to 1/2 inch deep.
LOVEGRASS, Weeping	1-10#	0-1/4"	March-July	An old & very popular grass for quail. Grows 2- 4' tall. Produces an abundance of seed, which quail love. Quail love its "weeping" growth habit for nesting cover. Will grow well on steep, rough land. Plant 5- 10#/A. March-July.
LUPINE, Blue	D=20-70# B=50-100#	1-2#	Sept-Nov	Use as a "Green Manure" or for wildlife (Deer forage).
MILLET, BROWNTOP -	30-40#/A	1/2-1"	April-August	Heavy seed producer. Grows 2-3' tall. For quail, doves, turkey, and ducks when flooded. Will produce seed in 65 days.
MILLET, DOVE PROSO -	30-40#/A	1/2-1"	April-August	The millet doves consume most. Relished by all game birds. Grows 3-6' tall. Matures from head down. Produces seed in about 70 days. Plants bend over as seed matures dropping them to the ground. Seed has a bright coat, which protects it from mildew and makes it very attractive to birds.

#### Jackson, GA 30233 Phone: (770) 775-7826 FAX: (770) 775-7122 e-mail: abseed@juno.com

<u>Item:</u>	<u>Rate(#'s) /</u> <u>Acre:</u>	<u>Planting</u> depth (in.)	<u>Planting</u> <u>Time:</u>	Notes and Comments:
MILLET, Fowtail (German)	D=8-20# B=30-40#	1/2-1"	April-August	Use for wildlife aor livestock. Produces seed for birds and forage for cattle.
MILLET, JAPANESE -	25-40#	1/2-1"	May-Sept.	Also known as Wild "Jap" or Duck Millet. Grows fast and produces an abundance of seed. Matures in 60 90 days. Ducks, dove, & quail love seed. Deer will graze forage. Broadcast around ponds, mud flats, or where may be flooded. Some clubs plant thousands of pounds this way.
MILLET, JAPANESE - Chiwappa	25-40#	1/2-1"	May-Sept.	Chiwappa is a very long seasoned Japanese Millet requiring a 120+ growing season. It is also taller than regular Japanese millet. It has the advantage of being able to be planted early and still mature late and hold seed longer that its cousin. The seeding rate would be the same, however, it should be planted earlier considering the maturity requirment.
MILLET,HYBRID PEARL GRAIN TYPE (Tifgrain 102) -	3-5#	1/2-1"	May-July	( <i>This crop is no longer in production</i> ) - A grain type "pearl" millet growing to about 3' -4" tall and maturing in about 85 -95days . Plant 3-5#/A drilled when soil temperatures are above 70° F.
OATS	D=40-64# B=10-120#	1/2-1"	Sept-Dec	Use lower seeding rate for grain and heavy seeding rate for forage/pasture. Very attractive for deer browse.
ORCHARDGRASS	D=3-5# B=15-25#	0-1/2"	Spring or Fall	A "Cool Season" grass that works well Fescue pastures to lessen endophyte problems especially in horse pastures.
PEAS, CATJANG	10-30#	1"	April-July	This pea is know by three different names. Good for quail, doves or other game. Plant 10-15#/A drilled or 30#/A broadcast. April to late July.
PEAS, Field Peas / Winter Peas - (Austrian Winter / Frostmaster / Whistler)	D=15-60# B=35-120#	1-2"	Fall	An annual pea closely related to garden peas (English). The vines will get 5' long on good ground. Good for Deer & Turkey. A soil builder so fertilizer not needed. They will grow throughout the cooler months but for added forage add ryegrass, grain, & clover.
PEAS, LATHCO FLATPEA -	25-40#/A	1"	Spring or Early Fall	A long-lived perennial that makes dense growth 2-3' high. Nothing better for doves, quail, ducks, turkey, deer, pheasant, & grouse. Plant 25-40#/A. April-July or early Fall.
PEAS, PARTRIDGEPEA -	10-15#/A	1/4"	Feb - June	An annual Reseeding legume growing 1-5' tall which will grow most anywhere in all type soils. Provides good cover for quail and other wildlife. Gives protection, winter food, summer shade, and insect brood habitat. Prepare seed bed, cover lightly, pack with tractor tire or cultipacker. A little fertilizer may be applied the first year, but on most soils not necessary. With light disking or burning each Spring in March the patch will re-seed for years. Broadcast with cyclone seeder at a 10-15#/A rate In February-July. Mature seed in about 110 days after germination. Seed have a very hard seed coat and germinate over a period of time insuring longevity of the stand.
Radish, Diakon ("ABC" RUT ROOT RADISH)	5-10# / A	1/2"	Early Fall or Spring	The word Daikon is made up of two Japanese words: dai, which means "large" and kon which means "root". This is an oriental radish that produces a very large root. It is used for food in Japan and has been found to be very benificial in breaking up compacted soils when used as a cover crop. The greens are very attractive to deer earlier that other brassicas. The roots are eaten after the tops are gone. They open up the soil and allow moisture and nutrients into the root zone for future crops.
RICE, LONG GRAIN -	90-135#/A	1"	April-May	Plant 2-3 bu./A. Broadcast (90-135#), cover 1", April-May. Needs 120 units of N divided into 3 applications (1st at flooding, 2nd at jointing, & 3rd 14 days later).
RICE, WILD -	25-40#/A	6-12" water	Feb - June	Plant in fresh water lakes, ponds, sloughs, or marshes. Plant in standing water 6-18" deep. Seed are shipped wet and must be refrigerated if not planted right away. Planting instructions are shipped with each order. Plant 25-40#/A. February-June. Seed will sprout when water temperature gets above 60 degrees.
RYE (grain) (secale cereale)	D=15-20# B=60-75#	1-2"	Sept-Dec	Seed early and heavy for forage use (deer & cattle).
RYEGRASS, (Italian)	35#	1/2-1"	Sept-Nov	Plant 5-10# per 1000 square feet when overseeding lawns.
SAINFOIN -	25-30#	1/4"	Fall or Spring	A perennial legume. Grown in Europe & Asia over 100 years. Grows 3' tall producing an abundance of pea shaped seed. Good for deer & turkey. Beekeepers like it for high yield and high quality honey.
SESAME -	10-12#	1/4"	April-June	Growing in popularity. Widely used by large hunting preserves for all birds, especially quail. Grows 4-6' tall and produces very attractive seed. Seed maturing in 85 days. Like velvet beans, Sesame provides nematode control in peanuts, cotton, and soybeans. In tests, peanuts yielded 42 lbs. per acre more.
SESBANIA -	20-25#	1/2"	April-July	Makes wonderful cover for quail, doves, ducks and all birds. Grows 8-12' tall. Likes hot weather. May be planted with Cowpeas using 8 parts peas to 1 part Sesbania.
SORGHUM ALUM -	5-25#*	1/2"	April-August	A perennial sorghum (warm season grass) which comes back each year from the crown. This plant will make a good browse for deer when kept tender (by periodic mowing) and it makes excellent nesting habitat for quail. This is a cousin to Johnsongrass with similar characteristics. Plant as early as April or as late as August. Planting rates as little as 5#/A in 36" rows or 20-25#/Acre broadcast.
SORGHUM, Martin MILO -	10-25#	1-2"	April-July	A bronze seeded sorghum. Provides cover for quail. Good for doves, ducks, and deer that eat the foliage as well as the seed heads.

P.O. Box 19 / 325 E. 2nd St. Jackson, GA 30233

#### Phone: (770) 775-7826 FAX: (770) 775-7122 e-mail: abseed@juno.com

SOUGHUM, HIGARI-       10-29       1-2"       April-My       Well at the seed basis.         SOUGHUM, SIALLI (IGAYFIAN       10-158       1-2"       April-My       Tespinar wear a sum is up toper userimentation for use stope cance targing wear. In wear is the proper userimentation for wear is proper userimentation for wear is proper userimentation for wear is proper userimentation. An excel wear is proper userimentation for wear is proper userimentation for wear is proper userimentation. The seed is not a subscript and the set wear is proper userimentation of the wear is proper userimentation. The seed is not wear in the set wear is more transfer sequence wear is proper userimentation. The seed is information is provided by set wear is proper userimentation. The seed is information is provided by set wear is proper userimentation. The seed is information is provided by set wear is proper userimentation. The seed is information is provided by set wear is proper userimentation. The seed is information is provided by the set wear is proper userimentation. The seed is information is provided by the set wear is a set of graphic properties. The seed is information is provided by the set wear is a set wear in the set wear is a set wear is a set wear is a set wear is a set wear in the set wear is a set wear is a set wear is a set wear is a set wear in the set wear is a set wear is the set wear is a set wear is the set wear is	<u>Item:</u>	<u>Rate(#'s) /</u> <u>Acre:</u>	<u>Planting</u> depth (in.)	<u>Planting</u> <u>Time:</u>	Notes and Comments:
SOURCH LID (REXPERS)       10-15#       1-2"       April-July       Provight to the U.S. from India. It has been one a most valuable crap for vilidife. A there, far matting sorgham, we will see that the second for all states and the deficience are under will ther and keep modules gathfinant has a song for all states are and the deficience and the deficience are under will ther and keep modules gathfinant has a song for all states are and the deficience are under will ther and keep modules gathfinant has a song for all states are and the deficience and the deficience are under will the and keep modules gathfinant has a song for all states are and the deficience and the deficience are and song and the song for all states (24 are deficience).         SOVBEANS, KEETER'S BORWHITE TRAILING (RESEEDING TYPE) -       20-30#       1"       April-July       Beed and developed by Keiter specificatly or wildlife. Small greeniab-twom seed about the size of gath and derive and and and and are consumption. A sumflower. Deer also relin for files with counts and the failing and the song for an additional has a sumflower. Plant MAY-July. Contains 40% broadcast or 20 and developed by Keiter specificatly or wildlife. Small greeniab-twom seed about the size of gath and the song for a song and methods. A constant and developed by Keiter specificatly or wildlife. Small bask kee and appendix and the song for an additional has a small bask kee and appendix and the song for additional has a small bask. A constant and the failed with counts in States. Plant MAY-July. Contains 40% broadcast or 20 and for all or additional has a small bask. Kee and for additional has a small bask. Kee and appendix and the song for additional has a state and developed by Keeter sequence with the song for additional has a state and additional has a state and additional has a state additis additional has a state and additis additiona	SORGHUM, HEGARI -	10-25#	1-2"	April-July	
SORGHUM, WGF (WILD GAME         Intermediation         Answer statuable source of winter food for wild iff. A short, fast maturing sorghum, Ward Modes of hists in Wilder and keep modeling additional head forge as there is insisture until forst. The search wild line and keep modeling additional head forge as there is insisture until forst. The search wild line and there producing additional head forge as there is insisture until forst. The search wild line and then is how them must all built car. This mates: WGF a must for provide producing additional head will car. This mates: WGF a must for provide producing additional head will car. This mates: WGF a must for provide producing additional head will car. This mates: WGF a must for provide producing additional head will car. This mates: WGF a must for provide producing additional head will car. This mates: WGF a must for provide producing additional head will car. This mates: WGF a must for provide producing additional head will car. This mates: WGF a must for provide producing additional head will car. This mates: WGF a must for provide producing additional head will car. This mates: WGF a must for provide producing additional head will car. A summary head will core and used be transmarked with Corea. See additional head will car and used be transmarked with Corea. See additional head will car at the must will corea. More head will car at the must will car. At the mate will car. At		10-15#	1-2"	April-July	brought to the U.S. from India. It has become a most valuable crop for wildlife habitat. An excellent
SOYBEANS, KESTER'S BORWHITE TRAILING (RESEEDING TYPE)-       20-30#       1"       May-July       orghum. Produces log vines that wind and crawl up on con, sorghum, As suffowers. Deer also relis drilled with Con, Sorghum, or suffower. Plant MAY-July. Contains 40% protein.         SOYBEANS, LAREDO -       25-30#       1"       April-July       This is a very heavy foliage plant, has a small black seed, all birds like as they mature and drop. Deer another crop.         SOYBEANS, QUAIL HAVEN -       20-30#       1"       May-July       This is a very heavy foliage plant, has a small black seed, all birds like as they mature and drop. Deer another crop.         SOYBEANS, QUAIL HAVEN -       20-30#       1"       May-July       (caltivate same as Bolwhite Soybeans)         SUDARGASS       D=15-20# P1-30-404       1/2"       Spring Summer       Caltivate same as Bolwhite Soybeans)         SUARBEETS       2-59       1/2"       Fall or Spring Summer       Plant in 18-24" rows.         SUNFLOWERS, SMALL BLACK (PEREDOVIC TYPE)-       10-30#*       1"       April-August       Most popular seed we sell. Matures in approx. 100 days. Grows 4-5 tall. Sunflowers left stam in 10 + 52 with 15 % sunflowers. Plant April-August. Plant ton-154/W in rows, 25-30/W Arodacaster in 10 + 50 with 15 % sunflowers. Plant April-August. Plant ton-154/W in rows, 25-30/W Arodacaster in 10 + 50 with 2% sunflowers. Plant April-August. Plant ton-154/W in rows, 25-30/W Arodacaster in row with 2% sunflowers. Plant April-August. Plant ton-154 with compas. soybeas, pend millet or sorgh sudargrass to enhance widlife. Hany		10-20#*	1-2"	April-July	A most valuable source of winter food for quail and other wildlife. A short, fast maturing sorghum, which will produce seed, heads in 90 days or less. The plants will tiller and keep producing additional heads as long as there is moisture until frost. The seed is bitter until dry and the short stubby stalks (24- 30" tall) stand up well protecting the quality of the seed. No bird will touch it until ripe, but when mature all birds will eat. This makes WGF a must for proving food when other food sources are depleted. Plant 10#/A
SOYBEANS, LAREDO -       25-30#       1"       April-July       these both for the forage and seed. These are different to the regular oil type bean. May be planted of another crop.         SOYBEANS, QUAIL HAVEN -       20-30#       1"       May-July       (cultivate same as Bobwhite Seybeans)         SUDANGRASS       D=15-20#       D-12"       Spring-Summer       (cultivate same as Bobwhite Seybeans)         SUGARBEETS       2-5#       1/2"       Fall or Spring-Summer       Most popular is Early Spring or Early Fall in South or April/May in North. The soil PH should be between 6 ef Plant in 18-24* rows.         SUNFLOWERS, SMALL BLACK (PEREDOVIC TYPE) -       In-30#*       I"       April-Aug       Most popular seed we sell. Matures in approx. 100 days. Grows 4-5' tall. Sunflowers left stam invoide cover for hunters while shattered seed at tract birds. When mixed with Cowpeas, dores & quail start feeding on the peas before the sunflowers: mature. Plant 10-15#/A in rows, 25-30#/A broadcast mix 10# geas with 15# Sunflowers. Plant April-August. Plant some and hare half the birds in the cove atting lunch with you.         Sunn Hemp (Crotalaria juncea)       D=5-10# B=1-20#       0-1/2"       Spring or Fall       Great for bees or as a forage for wildlife. It may be mixed with cowpeas, soybeans, pearl millet or sorgh undures the forasion control. High in protein. May be planted on dykes, banks, or flow admersion and wildlife.         SwmEterCLOVER, Yellow       D=5-10# B=1-20#       0-1/2"       Spring or Fall       Great for bees or as a forage for wildlife.       Inam 12-15/		20-30#	1"	May-July	Bred and developed by Kester specifically for wildlife. Small greenish-brown seed about the size of grain sorghum. Produces long vines that wind and crawl up on corn, sorghum, & sunflowers. Deer also relishes the foliage. Matures in 85 days. Plant with something for it to climb on at 30#/A broadcast or 20#/A drilled with Corn, Sorghum, or sunflower. Plant MAY-July. Contains 40% protein.
SOYBEANS, QUAIL HAVEN -       20-30#       1"       May-July       (cultivate same as Bobwhite Soybeans)         SUDANGRASS       D=15-20#       J/2"       Spring-Summer       Plant in Early Spring or Early Fall in South or April/May in North. The soil pH should be between 6 4 Plant in 18-24" rows.         SUGARBEETS       2-5#       1/2"       Fall or Spring       Plant in 18-24" rows.         SUNFLOWERS, SMALL BLACK (PEREDOVIC TYPE) -       10-30##       1"       April-August       Most popular seed we sell. Matures in approx. 100 days. Grows 4-5' tall. Sunflowers left stam provide cover for hunters while shattered seed attract birds. When mixed with Coxpeas, doves & quail start feeding on the peas before the sunflowers. Plant 10-15#/, in rows, 25-30#/, broadcast start feeding on the peas before the sunflowers. Plant April-August. Plant some and have half the birds in the cover and to be confused with the weed "crotalaria". Sunn Hemp is a plant of many u funds with you.         Sunn Hemp (Crotalaria juncea)       15#       1/2" - 1"       Spring-Summer         SwittCHGRASS (Panicum virgatum)       2#PLS**       1/4"       Crotalaria juncea should not be confused with the weed "crotalaria". Sunn Hemp is a plant of rany u funds wangrass to enhance wildlife habitat and food. Sunn Hemp is a very tall plant unless planted in summer.         SWETCLOVER, Yellow       D=5-10# B=15-20#       0-1/2"       Spring or Fall         Great for bees or as a forage for wildlife.       A perennial native warm scason bunchgrass which provides excellent Spring nesting and winter co Grows 2-5	SOYBEANS, LAREDO -	25-30#	1"	April-July	This is a very heavy foliage plant, has a small black seed, all birds like as they mature and drop. Deer like these both for the forage and seed. These are different to the regular oil type bean. May be planted with another crop
SUDANGRASS       D=15.20# B=30-40#       1/2"       Spring- Summer         SUCARBEETS       2.5#       1/2"       Fall or Spring       Plant in Early Spring or Early Fall in South or April/May in North. The soil pH should be between 6.4 Plant in 18-24" rows.         SUNFLOWERS, SMALL BLACK (PEREDOVIC TYPE) -       10-30##       1"       April-August       Most popular seed we sell. Matures in approx. 100 days. Grows 4.5" tall. Sunflowers left stanc provide cover for hunters while shattered seed attract birds. When mixed with crows, 25-30M/A broadcast mix 10# peas with 15% Sunflowers. Plant April-August. Plant 10-15%/A in 100-5%, 25-30M/A broadcast mix 10# peas with 15% Sunflowers. Plant April-August. Plant some and have half the birds in the cot eating lunch with you.         Sunn Hemp (Crotalaria juncea)       15#       1/2" - 1"       Spring- Summer       Crotalaria juncea should not be confused with the weed "crotalaria". Sunn Hemp is a plant of many u transport build organic matter in the soil. It works well as a forage crop for th domestic aminals and wildlife. It may be mixed with cowpeas, soybeans, pearl millet or sorgh sudagrass to enhance wildlife habitat and food. Sum Hemp is a very tall plant unless planted in summer.         SWEETCLOVER, Yellow       D=5-10# B=15-20#       0-1/2"       Spring or Fall       Great for bees or as a forage for wildlife.         SWEETCLOVER, Yellow       D=5-10# B=15-20#       0/-1/2"       Spring or Fall       Great for bees or as a forage for wildlife.         SWEETCLOVER, Yellow       D=5-10# B=15-20#       0/-1/2"       Spring or Fall       Grea	SOYBEANS, OUAIL HAVEN –	20-30#	1"	Mav-Julv	*
Summer       B=0-40#       Summer         SUGARBEETS       2-5#       1/2"       Fall or Spring       Plant in Early Spring or Early Fall in South or April/May in North. The soil pH should be between 6.4         SUNFLOWERS, SMALL BLACK (PEREDOVIC TYPE) -       10-30##       1"       April-August       Most popular seed we sell. Matures in approx. 100 days. Grows 4-5' tall. Sunflowers left stand provide cover for hunters while shattered seed attract birds. When mixed with Cowpeas, doves & quait start feeding on the peas before the sunflowers mature. Plant 10-15#/A in rows. 25-30#/A broadcast mix 10# peas with 15# Sunflowers. Plant April-August. Plant some and have half the birds in the cover atting lunch with you.         Sunn Hemp (Crotalaria juncea)       15#       1/2" - 1"       Spring-Summer       Crotalaria juncea should not be confused with the weed "crotalaria". Sun Hemp is a plant of many u It may be used as a cover crop to build organic matter in the soil. It works well as a forage crop for thomes wildlife. It may be mixed with cowpeas, soybeans, pearl millet or sorgh sudargrass to enhance wildlife habitat and food. Sum Hemp is a very tall plant unless planted in summer.         SWEETCLOVER, Yellow       D=5-10# B=15-20#       0-1/2"       Spring or Fall       Great for bees or as a forage for wildlife.         SWEETCLOVER, Yellow       D=5-10# B=15-20#       0-1/2"       Spring or Fall       Great for bees or as a forage for wildlife.         SWETCLOVER, Yellow       D=5-10# B=15-20#       0/1/2"       Spring or Fall       Great for bees or as a forage for wildlife. <tr< td=""><td></td><td></td><td>1/0"</td><td></td><td></td></tr<>			1/0"		
SUGARBEETS       2-5#       1/2"       Fail or Spring       Plant in 18-24" rows.         SUNFLOWERS, SMALL BLACK (PEREDOVIC TYPE) -       10-30#*       1"       April-August       Most popular seed we sell. Matures in approx. 100 days. Grows 4-5' tall. Sunflowers left stand provide cover for hunters while shattered seed attract birds. When mixed with Cowpeas, doves & quail stand feeding on the peas before the sunflowers matter. Plant 10-15/H and rows. 25-30/H/ broadcast         Sunn Hemp (Crotalaria juncea)       1.5#       1/2" - 1"       Spring-Summer       Crotalaria juncea should not be confused with the weed "crotalaria". Sunn Hemp is a plant of many u it may be used sa a cover crop to build organic matter in the soil. It works well as a forage crop for th discussion wildlife. It may be used wildlife. It may be mixed with cowpeas, sopeans, pearl millet or sorph submeric aminals and wildlife. It may be mixed with cowpeas, sopeans, pearl millet or sorph submeric aminals and wildlife. It may be mixed with cowpeas, sopeans, pearl millet or sorph submeric aminals and wildlife. It may be mixed with cowpeas, sopeans, pearl millet or sorph submeric aminals and wildlife. It may be mixed with cowpeas, sopeans, pearl millet or sorph submeric aminals and wildlife. It may be mixed with cowpeas, sopeans, pearl millet or sorph submeric aminals and balance wildlife.         SWEETCLOVER, Yellow       D=5-10#       0-1/2"       Spring or Fall       Great for bees or as a forage for wildlife.         SWITCHGRASS (Panicum virgatum)       2#PLS**       1/4"       A perennial native warm season bunchgrass which provides excellent Spring nesting and winter co Grows 2-5 tall Good for erosion control. High in protein. May be plan	SUDANGRASS	B=30-40#	1/2"	Summer	
SUNFLOWERS, SMALL BLACK (PEREDOVIC TYPE) -       10-30#*       1"       April-August provide cover for hunters while shattered seed attract birds. When mixed with Cowpeas, doves & quail start feeding on the peas before the sunflowers mature. Plant 10-15#/A in rows, 25-30#/A broadcasts wix 10# peas with 15# Sunflowers. Plant April-August. Plant some and have half the birds in the cov eating lunch with you.         Sunn Hemp (Crotalaria juncea)       15#       1/2" - 1"       Spring- Summer       Crotalaria juncea should not be confused with the weed "crotalaria". Sunn Hemp is a plant of many u It may be used as a cover crop to build organic matter in the soil. It works well as a forage crop for b domestic aminals and wildlife. It may be mixed with cowpeas, soybeans, pearl millet or sorgh usdangrass to enhance wildlife habitat and food. Sunn Hemp is a very tall plant unless planted in summer.         SWEETCLOVER, Yellow       D=5-10# B=15-20#       0-1/2"       Spring or Fall       Great for bees or as a forage for wildlife.         SWITCHGRASS (Panicum virgatum)       2#PLS**       1/4"       A preminal native warm season bunchgrass which provides excellent Spring nesting and winter co Grows 2-5' tall Good for erosion control. High in protein. May be planted on dykes, banks, or floor Plant 8-10#/A alone for hay.         VELVET BEANS -       D=12-15# B=25.50#       1/2"       Aug-Dec       An annual legume good for all wildlife. Plant August-December @ 15-20#/A. It does well when use mixtures. Good to use on land to be planted in cotton. Has high residue that stands on top of soil of man rye.       A range in planting dates are given because of location and geography.       March-June.	SUGARBEETS	2-5#	1/2"	Fall or Spring	Plant in Early Spring or Early Fall in South or April/May in North. The soil pH should be between 6 & 8. Plant in 18-24" rows.
Sunn Hemp (Crotalaria juncea)       15#       1/2" - 1"       Spring-Summer       It may be used as a cover crop to build organic matter in the soil. It works well as a forage crop for b domestic animals and wildlife. It may be mixed with cowpeas, soybeans, pearl millet or sorgh sudagrass to enhance wildlife habitat and food. Sunn Hemp is a very tall plant unless planted in summer.         SWEETCLOVER, Yellow       D=5-10# B=15-20#       0-1/2"       Spring or Fall       Great for bees or as a forage for wildlife.         SWITCHGRASS (Panicum virgatum)       2#PLS**       1/4"       Great for bees or as a forage for wildlife.         VELVET BEANS -       12-15#       2"       March-June       Plant 1/4 - 1/2 Acre plots in woods or around edge of woods in corn or sorghum. Deer really love th Plant 12-15#/A. March-June.         VETCH, HAIRY -       D=12-15# B=25-50#       1/2"       Aug-Dec       An annual legume good for all wildlife. Plant August-December @ 15-20#/A. It does well when usee mixtures. Good to use on land to be planted in cotton. Has high residue that stands on top of soil lor than rye.         NOTES:       A range in planting dates are given because of location and geography.         seeding rates       *Note       A range in planting dates are given because of location and geography.	-	10-30#*	1"	April-August	Most popular seed we sell. Matures in approx. 100 days. Grows 4-5' tall. Sunflowers left standing provide cover for hunters while shattered seed attract birds. When mixed with Cowpeas, doves & quail will start feeding on the peas before the sunflowers mature. Plant 10-15#/A in rows, 25-30#/A broadcast, or mix 10# peas with 15# Sunflowers. Plant April-August. Plant some and have half the birds in the county eating lunch with you.
SWEETCLOVER, Yellow       B=15-20#       0-1/2"       Spring or Fall       Great for bees or as a forage for wildlife.         SWITCHGRASS (Panicum virgatum)       2#PLS**       1/4"       A perennial native warm season bunchgrass which provides excellent Spring nesting and winter co Grows 2-5' tall Good for erosion control. High in protein. May be planted on dykes, banks, or flood Plant 8-10#/A alone for hay.         VELVET BEANS -       12-15#       2"       March-June       Plant 1/4 - 1/2 Acre plots in woods or around edge of woods in corn or sorghum. Deer really love th Plant 12-15#/A. March-June.         VETCH, HAIRY -       D=12-15# B=25-50#       1/2"       Aug-Dec       An annual legume good for all wildlife. Plant August-December @ 15-20#/A. It does well when used mixtures. Good to use on land to be planted in cotton. Has high residue that stands on top of soil lor than rye.         NOTES:       Planting dates       A range in planting dates are given because of location and geography.         seeding rates       *Note       A range in planting dates are given because of location and geography.	Sunn Hemp (Crotalaria juncea)	15#	1/2" - 1"		Crotalaria juncea should not be confused with the weed "crotalaria". Sunn Hemp is a plant of many uses. It may be used as a cover crop to build organic matter in the soil. It works well as a forage crop for both domestic amimals and wildlife. It may be mixed with cowpeas, soybeans, pearl millet or sorghum- sudangrass to enhance wildlife habitat and food. Sunn Hemp is a very tall plant unless planted in late summer.
SWITCHGRASS (Panicum virgatum)       2#PLS**       1/4"       Grows 2-5' tall Good for erosion control. High in protein. May be planted on dykes, banks, or flood Plant 8-10#/A alone for hay.         VELVET BEANS -       12-15#       2"       March-June       Plant 1/4 - 1/2 Acre plots in woods or around edge of woods in corn or sorghum. Deer really love th Plant 12-15#/A. March-June.         VETCH, HAIRY -       D=12-15# B=25-50#       1/2"       Aug-Dec       An annual legume good for all wildlife. Plant August-December @ 15-20#/A. It does well when used mixtures. Good to use on land to be planted in cotton. Has high residue that stands on top of soil for than rye.         NOTES:	SWEETCLOVER, Yellow		0-1/2"	Spring or Fall	Great for bees or as a forage for wildlife.
VELVET BEANS -       12-15#       2"       March-June         Plant 12-15#//       D=12-15#       1/2"       Aug-Dec       An annual legume good for all wildlife. Plant August-December @ 15-20#/A. It does well when used mixtures. Good to use on land to be planted in cotton. Has high residue that stands on top of soil for than rye.         NOTES:       A       A range in planting dates are given because of location and geography.         seeding rates       "D" = drilled seeding rate. "B" = broadcast seeding rate.         seeding rates       *Note       A "broadcast" seeding rate is usually twice (2X) that of a "drilled" seeding rate	SWITCHGRASS (Panicum virgatum)	2#PLS**	1/4"		A perennial native warm season bunchgrass which provides excellent Spring nesting and winter cover. Grows 2-5' tall Good for erosion control. High in protein. May be planted on dykes, banks, or flooded. Plant 8-10#/A alone for hay.
VETCH, HAIRY -       D=12-13# B=25-50#       1/2"       Aug-Dec       mixtures. Good to use on land to be planted in cotton. Has high residue that stands on top of soil lor than rye. <u>NOTES:</u>	VELVET BEANS -	12-15#	2"	March-June	Plant 1/4 - 1/2 Acre plots in woods or around edge of woods in corn or sorghum. Deer really love them. Plant 12-15#/A. March-June.
planting dates       A range in planting dates are given because of location and geography.         seeding rates       "D" = drilled seeding rate. "B" = broadcast seeding rate.         seeding rates       *Note       A "broadcast" seeding rate is usually twice (2X) that of a "drilled" seeding rate	VETCH, HAIRY -		1/2"	Aug-Dec	An annual legume good for all wildlife. Plant August-December @ 15-20#/A. It does well when used in mixtures. Good to use on land to be planted in cotton. Has high residue that stands on top of soil longer than rye.
seeding rates       "D" = drilled seeding rate. "B" = broadcast seeding rate.         seeding rates       *Note         A "broadcast" seeding rate is usually twice (2X) that of a "drilled" seeding rate					
seeding rates *Note A "broadcast" seeding rate is usually twice (2X) that of a "drilled" seeding rate					
		***			
	0				
seeding rates         **Note         Native grasses are generally seeded on "Pure Live Seed" rate (#PLS/Acre).           seeding depth         Planting depth is dependent on soil type and texture.	seeding rates	···Note			Native grasses are generally seeded on "Pure Live Seed" rate (#PLS/Acre).

#### Please feel free to call us for more detailed specific information on any item. We will gladly try to help answer your questions.

Legume inoculants are cultures of nitrogen-fixing bacteria in a peat-based medium prepared for application to legume seeds before planting. Rhizobia working in nodules gather air nitrogen and make it available to their host. The strains of nodule bacteria are specifically selected for their ability to produce effective nodules on the leguminous plants for which they are labeled. There are three common ways of applying the inoculants to seed, the "Slurry Method" where you mix the inoculants with a liquid (1 ½ pt per 50# of seed) and pour the mixture onto the seed and mix it in, the "Sprinkle Method" where you moisten the seed with a smaller amount of liquid (1 pt per 50# of seed) and mix the inoculants with the seed, and the "Dry Method" where you simply mix the dry inoculants with the seed in the planter hopper. All three methods are effective under ideal circumstances. Cool water may be used. A "soft drink" such as coke also makes a good "sticking agent". (Caution: be careful using chlorinated water) Plant inoculated seed within 24 hours of inoculation for best results.



PO Box 19 (325 E 2nd St) Jackson, GA 30233 Phone: 1-877-775-7826 www.abseed.com 2/25/2020 Page #16

	Planting Rate:			Planting	Distance		
Vegetable	100' Row	Acre	Planting Depth (inches)	Plants in Row (inches)	Rows Apart (inches)	Days to Germ. (approx.)	Days to Maturity (approx.)
Beans, Bush Snap	1 lb	60 - 100 lb	1 - 2	4-6	18 - 30	6	50 - 55
Beans, Pole Snap	1/2 lb	30 - 40 lb	1 - 2	6	36 - 48	6	65-70
Beans, Bush Lima	1/2 lb	30 - 50 lb	1 - 2	6	24 - 30	7	65 - 80
Beans, Pole Lima	1/2 lb	30 - 50 lb	1 - 2	6	30 - 36	7	75 - 95
Beets	1 oz	5 - 10 lb	1/2 - 1	2	12 - 18	8	55 - 60
Broccoli (plants)	65 plants	1/4 lb	1 - 2	18	24 - 30		70 - 80
Broccoli (seed)	1/2 oz		1/2	18	24 - 30	10	80 - 85
Brussel Sprouts	1/2 oz	1/4 lb	1/2	14 - 18	24 - 30	10	90 - 100
Cabbage (plants)	100 plants	1/4 lb	2 - 4	12	24 - 30		63 - 75
Cabbage (seed)	1/2 oz	1 - 3 lb	1/2	12	24 - 30	10	90 - 120
Cantaloupe	1/2 oz	3 lb	1/2 - 1	2	48 - 60	7	85 - 90
Carrot	1/2 oz	2 - 5 lb	1/2	2	14 - 24	8	75 - 80
Cauliflower (plants)	65 plants	1/4 lb	1 -2	18	30-36		55-65
Cauliflower (seed)	1/2 oz		1/2	18	30 - 36	10	85 - 95
Collards	1/2 oz	3 - 4 lb	1/4	18	24 - 30	10	90 - 120
Corn, Sweet	4 oz	5 10 lb	1 - 2	12	30 - 36	7	85 - 90
Cucumber	1/2 oz	3 lb	1	12	48 - 72	7	56 - 65
Eggplant	65 plants	1/4 lb	1/4	18	36	10	80 - 85
Kale	1/2 oz	4 lb	1/2	2	18 - 24	10	50 - 60
Lettuce	1/2 oz	3 - 4 lb	1/4 - 1/2	12	18 - 24	7	45 - 85
Mustard	1/2 oz	5 lb	1/2	2	12 - 18	8	30 - 40
Okra	2 oz	8 lb	1	12	28 - 36	10	50 - 60
Onion (sets)	1 quart	3 - 4 lb	1 - 2	4	12 - 24	10	60 - 80
Peas, Garden (English)	1 lb	90 - 150 lb	2	2 - 3	18 - 30	8	65 - 70
Pas, Field (Cowpeas)	1/2 lb	60 - 120 lb	1-2	4	36 - 42	8	55 - 65
Pepper (plants)	65 plants	6 oz	1/2	18	36	10	75 - 80
Potato, Irish	120 plants		4 - 6	10	36 - 42		100 - 120
Potato, Sweet	100 plants		3 - 6	12	36 - 42		105 - 135
Pumpkin	1/2 oz	3 lb	1 - 2	48	72 - 120	10	115 - 120
Radish	1 oz	10 - 12 lb	1/2	1	6 - 12	6	20 - 25
Rutabaga	1/2 oz	2 4 lb	1/2	4	18 - 24	9	90
Spinach	1 oz	10 - 15 lb	1/2	4	12 - 14	8	45 - 60
Squash, Summer	1/2 oz	4 - 6 lb	1	2	36 - 60	7	50 - 60
Squash, Winter	1/2 oz	3 - 4 lb	1	4	96 - 120	9	85 - 95
Tomato	50 plants	1/4 lb	1/4 - 1/2	2	36 - 60	8	75 - 85
Turnips	1/2 oz	2 lb	1/2	2	15 - 18	7	55 - 60
Watermelon	1 oz	2 - 4 lb	1	36	60 - 96	8	90 - 100
Note: Check your loc	al zone for p	planting and	frost dat	es for in	dividual ve	egetable o	crops.

Restoration, Wetland, Wildflower, and Shrub & Tree Species					
Botanical Name	Common Name	Reg 1 / Reg 2 / Reg 3	Price:		
Achillea millefolium	Common Yarrow	FACU/FACU/FACU	call for pricing		
Acorus americanus	Sweetflag		call for pricing		
Agastache foeniculum	Anise (Lavender) Hyssop		call for pricing		
Agrimonia parviflora	Small Flowered Agrimony	FAC/FAC/FAC+	call for pricing		
Agrostis alba (A. gigantea)	Redtop	FACW/FACW/FACW	call for pricing		
Agrostis hyemalis, Piedmont NC Ecotype	Winter Bentgrass, Piedmont NC Ecotype	FAC/FAC/FAC-	call for pricing		
Agrostis perennans, PA & APB-NY Ecotype	Autumn Bentgrass, PA & APB-NY Ecotype	FACU/FACU/FAC-	call for pricing		
Agrostis stolonifera	Creeping Bentgrass	FACW/FACW/FACW	call for pricing		
Agrostis tenuis (A. capillaris)	Colonial Bentgrass, 'Highland'		call for pricing		
Alisma subcordatum (A. plantago-aquatica)	Mud Plantain (Water Plantain)	OBL/OBL/OBL	call for pricing		
Allium cernuum, OH Ecotype	Nodding Onion, OH Ecotype		call for pricing		
Alopecurus arundinaceus (A. ventricosus)	Creeping Foxtail	NO/NO/NO	call for pricing		
Amorpha canescens	Leadplant		call for pricing		
Amorpha fruticosa	River Locust (False Indigo)	FACW/FACW/FACW+	call for pricing		
Amorpha herbacea, NC Ecotype	Clusterspike False Indigo, NC Ecotype	NO/FAC/NO	call for pricing		
Amsonia ciliata, SC Ecotype	Fringed Bluestar, SC Ecotype		call for pricing		
Andropogon gerardii	Big Bluestem, (see Page 1 for cultivars & prices)	FAC/FAC/FAC-	call for pricing		
Andropogon glomeratus, FL Ecotype	Bushy Bluestem, FL Ecotype	FACW+/FACW+/FACW+	call for pricing		
Andropogon glomeratus var. glaucopsis, FL Ecotype	Purple Bluestem, FL Ecotype		call for pricing		
Andropogon ternarius, FL Ecotype	Splitbeard Bluestem, FL Ecotype	FACU/FACU/FACU	call for pricing		
Andropogon ternarius, MO Ecotype	Splitbeard Bluestem, MO Ecotype	FACU/FACU/FACU	call for pricing		
Andropogon virginicus, MO Ecotype	Broomsedge, MO Ecotype	FACU/FAC-/FAC-	call for pricing		
Anemone canadensis	Canadian Anemone	FACW/FAC/FACW	call for pricing		
Anemone virginiana	Thimbleweed		call for pricing		
Apocynum cannabinum	Indianhemp	FACU/FAC-/FAC	call for pricing		
Aquilegia canadensis	Eastern Columbine	FAC/FAC-	call for pricing		
Aralia spinosa	Hercules' Club	FAC/FAC/FACW	call for pricing		
Aronia melanocarpa	Black Chokeberry	FAC/FAC/FACW-	call for pricing		
Arrhenatherum elatius ssp. elatius, 'Ruffner'	Tall Oatgrass, Ruffner		call for pricing		
Asclepias incarnata, PA & Midwestern U.S. Ecotype	Swamp Milkweed, PA & Midwestern U.S. Ecotype	OBL/OBL/OBL	call for pricing		
Asclepias speciosa	Showy Milkweed	NO/NI/FAC	call for pricing		
Asclepias syriaca	Common Milkweed		call for pricing		
Asclepias tuberosa	Butterfly Milkweed		call for pricing		
Aster divaricatus	White Wood Aster		call for pricing		
Aster laevis (Symphyotrichum laeve)	Smooth Blue Aster		call for pricing		
Aster lateriflorus	Calico Aster	FACW-/FAC/FACW-	call for pricing		
Aster lowrieanus, PA Ecotype	Lowrie's Blue Wood Aster, PA Ecotype		call for pricing		
Aster macrophyllus (Eurybia macrophylla)	Bigleaf Aster		call for pricing		
Aster novae-angliae (Symphyotrichum n.)	New England Aster	FACW-/FACW/FACW	call for pricing		
Aster novi-belgii, APB-NY Ecotype	New York Aster, APB-NY Ecotype	FACW+/OBL/FACW	call for pricing		
Aster oblongifolius (Symphyotrichum oblongifolium)	Aromatic Aster		call for pricing		
Aster patens, NC Ecotype	Late Purple Aster		call for pricing		
Aster pilosus (Symphyotrichum pilosum)	Heath Aster	UPL/FAC-/FACU+	call for pricing		
Aster prenanthoides (Symphyotrichum p.)	Zigzag Aster	FAC/FAC/FAC	call for pricing		
Aster puniceus (Symphyotrichum puniceum)	Purplestem Aster	OBL/OBL/OBL	call for pricing		
Aster sagittifilius (A. urophyllus) (Symphyotrichum urophyllum)	Arrowleaf (Sagittate) Aster		call for pricing		

	land, Wildflower, and Shr		р ·
Botanical Name	Common Name	Reg 1 / Reg 2 / Reg 3	Price:
Aster spectabilis, NC Ecotype	Showy Aster, NC Ecotype		call for pricing
Aster umbellatus (Doellingeria umbellata)	Flat Topped White Aster	FACW/FACW/FACW	call for pricing
Astragalus canadensis	Canadian Milkvetch	FAC/FAC/FAC+	call for pricing
Baptisia alba (B. leucantha)	White False Indigo	FACU/FAC/FACU	call for pricing
Baptisia albescens, NC & SC Ecotype	Spiked Wild Indigo, NC & SC Ecotype		call for pricing
Baptisia australis, WV Ecotype	Blue False Indigo, WV Ecotype		call for pricing
Baptisia pendula, FL Ecotype	Largeleaf Wild Indigo, FL Ecotype		call for pricing
Baptisia perfoliata, SC Ecotype	Catbells, SC Ecotype		call for pricing
Baptisia tinctoria	Yellow False Indigo (Horseflyweed)		call for pricing
Bidens aristosa, NC Ecotype	Showy Tickseed Sunflower (Bur Marigold), NC Ecotype	FACW-/FACW/FACW	call for pricing
Bidens cernua, PA & Midwestern U.S. Ecotype	Nodding Bur Marigold, PA & Midwester U.S. Ecotype	<sup>n</sup> OBL/OBL/OBL	call for pricing
Bidens frondosa, PA & Midwestern U.S. Ecotype	Beggartick, PA & Midwestern U.S. Ecotype	FACW/FACW/FACW	call for pricing
Bidens mitis, FL Ecotype	Smallfruit Beggartick, FL Ecotype	OBL/OBL/NO	call for pricing
Blephilia ciliata, NC Ecotype	Downy Pagoda Plant, NC Ecotype		call for pricing
Boltonia asteroides	False Aster	FACW/FACW/FACW	call for pricing
Boltonia asteroides, FL Ecotype	White Doll's Daisy, FL Ecotype	FACW/FACW/FACW	call for pricing
Bouteloua curtipendula	Sideoats Grama		call for pricing
Bouteloua gracilis	Blue Grama		call for pricing
Bromus inermis	Smooth Brome		call for pricing
Buchloe dactyloides (Bulbilis d.), 'Texoka'	Buffalograss, 'Texoka'	NO/FACU-/FACU-	call for pricing
Calamagrostis canadensis	Canada Bluejoint	FACW+/OBL/OBL	call for pricing
Camelina sativa	Camelina	UPL/FACU/FAC-	call for pricing
Carex albolutescens, NC Ecotype	Greenwhite Sedge, NC Ecotype	FACW/FAC+/FACW	call for pricing
Carex comosa	Cosmos (Bristly) Sedge	OBL/OBL/OBL	call for pricing
Carex crinita	Fringed (Nodding) Sedge	OBL/FACW+/FACW+	call for pricing
Carex folliculata	Northern Long Sedge		call for pricing
Carex frankii	Frank's Sedge	OBL/OBL/OBL	call for pricing
Carex glaucescens, NC Ecotype	Southern Waxy Sedge, NC Ecotype	OBL/OBL/NO	call for pricing
Carex granularis var. haleana	Openfield Sedge	FACU/ FACW+/FACW+	call for pricing
Carex grayi	Gray's Sedge	FACW+/FACW/FACW+	call for pricing
Carex gynandra	Nodding Sedge		call for pricing
Carex intumescens	Bladder (Star) Sedge	FACW+/FACW/FACW+	call for pricing
Carex lupulina, MD & NC Ecotype	Hop Sedge, MD & NC Ecotype	OBL/OBL/OBL	call for pricing
Carex lupulina, PA Ecotype	Hop Sedge, PA Ecotype	OBL/OBL/OBL	call for pricing
Carex Iurida	Lurid (Shallow) Sedge	OBL/OBL/OBL	call for pricing
Carex lurida, NC Ecotype	Lurid (Shallow) Sedge, NC Ecotype	OBL/OBL/OBL	call for pricing
Carex pensylvanica, PA Ecotype	Pennsylvania Sedge, PA Ecotype	ODE/ODE/ODE	call for pricing
Carex pensylvanica, r A Ecolype Carex scoparia	Blunt Broom Sedge	FACW/FACW/FACW	call for pricing
Carex scoparia Carex squarrosa, PA Ecotype	Squarrose Sedge, PA Ecotype	FACW/FACW/OBL	call for pricing
Carex squarrosa, VA Ecotype	Squarrose Sedge, VA Ecotype	FACW/FACW/OBL	call for pricing
Carex stipata	Awl Sedge	OBL/OBL/OBL	call for pricing
Carex stricta	Tussock Sedge	OBL/OBL/OBL	call for pricing
Carex sulpinoidea	Fox Sedge	OBL/OBL/OBL	call for pricing
Carpinus caroliniana	Hornbeam (Blue Beech) (Musclewood)	FAC/FAC/FAC	call for pricing
Carya ovata	Shagbark Hickory	FACU-/FACU/FACU	call for pricing
Centaurea cyanus	Cornflower (Bachelor's Button)		call for pricing
Cephalanthus occidentalis	Buttonbush	OBL/OBL/OBL	call for pricing
Cercis canadensis	Eastern Redbud	FACU-/FACU/FACU	call for pricing

Jackson, GA 30233

Kestoration, Wetla	nd, Wildflower, and Shr	ub & Tree Species	
Botanical Name	Common Name	Reg 1 / Reg 2 / Reg 3	Price:
Chamaecrista fasciculata (Cassia f.)	Partridge Pea	FACU/FACU/FACU-	call for pricing
Chamaecrista fasciculata, FL Ecotype	Partridge Pea, FL Ecotype	FACU/FACU/FACU-	call for pricing
Chamaecrista nictitans, NC Ecotype	Sensitive Pea, NC Ecotype	FACU-/FACU/FACU-	call for pricing
Chasmanthium latifolium (Uniola latifolia), MO Ecotype	River Oats, MO Ecotype	FACU/FAC-/FACW	call for pricing
Chasmanthium laxum (Uniola laxa), NC Ecotype	Slender Woodoats, NC Ecotype	FAC/FACW-/FACW	call for pricing
Cheiranthus allionii (Erysimum cheiri)	Wallflower		call for pricing
Chelone glabra	Turtlehead	OBL/OBL/OBL	call for pricing
Chrysanthemum leucanthemum	Oxeye Daisy		call for pricing
Chrysanthemum maximum	Shasta Daisy		call for pricing
Cichorium intybus	Blue Chicory		call for pricing
Cimicifuga racemosa	Black Cohosh (Black Snakeroot) (Black Bugbane)		call for pricing
Cinna arundinacea	Wood Reedgrass	FAC+/FACW/FACW	call for pricing
Clarkia elegans	Clarkia		call for pricing
Clematis virginiana, PA & Midwestern U.S. Ecotype	Virgin's Bower, PA & Midwestern U.S. Ecotype	FAC/FAC+/FAC	call for pricing
Coreopsis basalis, FL Ecotype	Goldenmane Tickseed, FL Ecotype		call for pricing
Coreopsis grandiflora, GA Ecotype	Largeflower Tickseed, GA Ecotype		call for pricing
Coreopsis lanceolata	Lanceleaf Coreopsis	FACU/UPL/FACU	call for pricing
Coreopsis leavenworthii, FL Ecotype	Leavenworth's Tickseed, FL Ecotype	NO/FACW/NO	call for pricing
Coreopsis major, AL Ecotype	Greater Tickseed, AL Ecotype		call for pricing
Coreopsis tinctoria	Plains Coreopsis	FAC-/FAC/FAC-	call for pricing
Coreopsis tripteris, AL, OH & PA Ecotype	Tall Coreopsis, AL, OH & PA Ecotype	FAC/FAC/FAC	call for pricing
Coreopsis verticillata, SC & VA Ecotype	Whorled (Threadleaf) Tickseed		call for pricing
Cornus alternifolia	Pagoda Dogwood		call for pricing
Cornus amomum	Silky Dogwood	FACW/FACW+/FACW+	call for pricing
Cornus florida	Flowering Dogwood	FACU-/FACU/FACU-	call for pricing
Cornus racemosa	Gray Dogwood		call for pricing
Cornus sericea (C. stolonifera)	Redosier Dogwood	FACW+/NO/FACW+	call for pricing
Cosmos bipinnatus	Cosmos	FACU-/FAC/FACW-	call for pricing
Cosmos sulphureus	Sulphur Cosmos		call for pricing
Cyperus esculentus	Chufa (Nutsedge)	FACW/FAC/FACW	call for pricing
Dalea candida	White Prairie Clover		call for pricing
Dalea purpurea (Petalostemon purpureum)	Purple Prairie Clover		call for pricing
Daucus carota	Queen Anne's Lace		call for pricing
Delphinium ajacis	Rocket Larkspur		call for pricing
Deschampsia cespitosa	Tufted Hairgrass	FACW/FACW/FACW+	call for pricing
Desmanthus illinoensis, Midwestern U.S. Ecotype	Illinois Bundleflower, Midwestern U.S. Ecotype	FAC/FAC/FAC-	call for pricing
Desmodium canadense	Showy Ticktrefoil	FAC/FAC-/FAC-	call for pricing
Desmodium glabellum, 'Alcona'-MI Ecotype	Dillenius' Ticktrefoil, 'Alcona'-MI Ecotype		call for pricing
Desmodium paniculatum, PA & WI Ecotype	Panicledleaf Ticktrefoil, PA & WI Ecotype		call for pricing
Desmodium tortuosum, AL Ecotype	Dixie Ticktrefoil, AL Ecotype		call for pricing
Dianthus barbatus	Sweetwilliam		call for pricing
Echinacea pallida	Pale Purple Coneflower		call for pricing
Echinacea purpurea	Purple Coneflower		call for pricing
Echinochloa crusgalli var. frumentacea	Japanese Millet	FACU/FACW-/FACW	call for pricing
Echinochloa muricata	Barnyard Grass		call for pricing

Jackson, GA 30233

	e e	-	Restoration, Wetland, Wildflower, and Shrub & Tree Species					
Botanical Name	Common Name	Reg 1 / Reg 2 / Reg 3	Price:					
Echinochloa muricata, PA Ecotype	Barnyard Grass, PA Ecotype		call for pricing					
Eleocharis palustris	Creeping Spikerush	OBL/OBL/OBL	call for pricing					
Elephantopus elatus, FL Ecotype	Tall Elephantsfoot, FL Ecotype		call for pricing					
Elymus canadensis	Canada Wildrye	FACU+/FAC/FAC-	call for pricing					
Elymus hystrix (Hystrix patula), PA & Midwestern U.S.	Bottlebrush Grass, PA & Midwestern U.S.		call for pricing					
Ecotype	Ecotype							
Elymus riparius, PA Ecotype	Riverbank Wildrye, PA Ecotype	FACW/FACW/FACW	call for pricing					
Elymus villosus	Silky Wildrye		call for pricing					
Elymus virginicus, PA Ecotype	Virginia Wildrye, PA Ecotype	FACW-/FAC/FACW-	call for pricing					
Elymus virginicus, GA, 'Suther'-NC Ecotype	Virginia Wildrye, GA, 'Suther'-NC Ecotype	FACW-/FAC/FACW-	call for pricing					
Eragrostis curvula	Weeping Lovegrass		call for pricing					
Eragrostis elliottii, FL Ecotype	Field Lovegrass, FL Ecotype	NO/FACW/NO	call for pricing					
Eragrostis hirsutus, VA Ecotype	Bigtop Lovegrass, VA Ecotype	UPL/FACU/UPL	call for pricing					
Eragrostis spectabilis, FL Ecotype	Purple Lovegrass, FL Ecotype	UPL/FACU/UPL	call for pricing					
Eragrostis trichodes	Sand Lovegrass		call for pricing					
Erianthus contortus, VA & NC Ecotype	Shortbeard Plumegrass, VA & NC Ecotype		call for pricing					
Eriophorum virginicum	Tawny Cottongrass	OBL/OBL/OBL	call for pricing					
Eryngium aquaticum var. aquaticum, SC Ecotype	Marsh Rattlesnakemaster, SC Ecotype		call for pricing					
Eryngium aquaticum var. ravenelii, FL Ecotype	Marsh Rattlesnakemaster, FL Ecotype		call for pricing					
Eryngium yuccifolium	Rattlesnakemaster	FAC/FAC/FAC+	call for pricin					
Eryngium yuccifolium, OH, FL & IA Ecotype	Rattlesnakemaster, OH, FL, SC & IA Ecotype	FAC/FAC/FAC+	call for pricin					
Eschscholzia californica	California Poppy		call for pricing					
Eupatorium coelestinum, VA & FL Ecotype	Mistflower, VA & FL Ecotype	FAC/FAC/FAC+	call for pricing					
Eupatorium maculatum	Spotted Joe Pye Weed	FACW/FACW-/OBL	call for pricing					
Eupatorium perfoliatum	Boneset	FACW+/FACW+/FACW+	call for pricin					
Eupatorium perfoliatum, FL Ecotype	Boneset, FL Ecotype	FACW+/FACW+/FACW+	call for pricin					
Eupatorium purpureum, IA Ecotype	Purple Node Joe Pye Weed, IA Ecotype	FAC/FAC/FAC	call for pricing					
Eupatorium rugosum (Ageratina altissima)	White Snakeroot	FACU-/FACU-/FACU	call for pricing					
Euthamia graminifolia (Solidago g.)	Grassleaf Goldenrod	FAC/FACW/FACW-	call for pricing					
Festuca arundinacea (F. elatior)(Lolium								
arundinaceum)	Tall Fescue	FACU/FAC-/FACU+	call for pricing					
Festuca brevipila	Hard Fescue		call for pricing					
Festuca elatior	Meadow Fescue		call for pricing					
Festuca elatior x Lolium perenne	Festulolium		call for pricing					
Festuca ovina	Sheep Fescue		call for pricing					
Festuca ovina var. glauca (F. arvernensis)	Blue Fescue		call for pricing					
Festuca rubra	Creeping Red Fescue	FACU/FACU+/FAC-	call for pricing					
Festuca rubra ssp. commutata	Chewings Fescue	FACU/FACU+/FAC-	call for pricing					
Fraxinus americana	White Ash	FACU/FACU/FACU	call for pricing					
Fraxinus pennsylvanica	Green Ash	FACW/FACW/FACW	call for pricin					
Gaillardia aristata	Perennial Gaillardia (Blanketflower)		call for pricin					
Gaillardia pulchella	Annual Gaillardia (Indian Blanket)		call for pricin					
Geum canadense	White Avens	FACU/FAC/FAC	call for pricin					
Geum macrophyllum	Largeleaf Avens	FACW/NO/FACW+	call for pricin					
Glyceria canadensis	Rattlesnake Grass	OBL/OBL/OBL	call for pricin					
Glyceria grandis	American Mannagrass		call for pricin					
Glyceria striata, PA Ecotype	Fowl Mannagrass, PA Ecotype	OBL/OBL/OBL	call for pricin					
Gypsophila elegans	Annual Baby's Breath		call for pricin					

Restoration, Wetland, Wildflower, and Shrub & Tree Species					
Botanical Name	Common Name	Reg 1 / Reg 2 / Reg 3	Price:		
Hamamelis virginiana	Witchhazel	FAC-/FACU/FACU	call for pricing		
Helianthus angustifolius, MD, NC & AL Ecotype	Swamp Sunflower, MD, NC & AL Ecotype		call for pricing		
Helianthus annuus	Common Sunflower	FAC-/FAC-/FAC-	call for pricing		
Helianthus giganteus, PA Ecotype	Giant Sunflower, PA Ecotype	FACW/FACW/FACW	call for pricing		
Helianthus maximilianii	Maximilian's Sunflower	UPL/UPL/UPL	call for pricing		
Helianthus radula, FL Panhandle Ecotype	Rayless Sunflower, FL Panhandle Ecotype	NO/FACW-/NO	call for pricing		
Helenium autumnale, PA & VA Ecotype	Common Sneezeweed, PA & VA Ecotype	FACW+/FACW/FACW+	call for pricing		
Helianthus ssp.	Black Oil Sunflower		call for pricing		
Helenium flexuosum, VA Ecotype	Purplehead Sneezeweed, VA Ecotype		call for pricing		
Heliopsis helianthoides	Oxeye Sunflower		call for pricing		
Hesperis matronalis	Dames Rocket		call for pricing		
Hibiscus moscheutos, DP DE/MD, VA, 'Suther'-P & CP NC Ecotype	Crimsoneyed Rosemallow, DP DE/MD, VA, 'Suther'-P & CP NC Ecotype	OBL/OBL/OBL	call for pricing		
Hypericum perforatum	Common St. Johnswort		call for pricing		
Hypericum punctatum, PA Ecotype	Spotted St. Johnswort, PA Ecotype	FAC-/FAC/FAC+	call for pricing		
Hypericum pyramidatum	Great St. Johnswort	FAC/NO/FAC+	call for pricing		
llex verticillata	Winterberry	FACW+/FACW/FACW+	call for pricing		
Iris versicolor	Blueflag	OBL/OBL/OBL	call for pricing		
Iris virginica var. shrevei, IA Ecotype	Shreve's Iris, IA Ecotype	OBL/OBL/OBL	call for pricing		
Juncus effusus, 'Suther'-NC & FL Ecotype	Soft Rush, 'Suther'-NC & FL Ecotype	FACW+/FACW+/OBL	call for pricing		
Juncus effusus, PA & NC Ecotype	Soft Rush, PA & NC Ecotype	FACW+/FACW+/OBL	call for pricing		
Juncus tenuis, NC Ecotype	Path Rush, NC Ecotype	FAC-/FAC/FAC	call for pricing		
Juncus tenuis, PA Ecotype	Path Rush, PA Ecotype	FAC-/FAC/FAC	call for pricing		
Koeleria macrantha	Junegrass		call for pricing		
Kosteletzkya virginica, MD Ecotype	Virginia Saltmarsh Mallow, MD Ecotype		call for pricing		
Lathyrus sylvestris, 'Lathco'	Flat Pea, 'Lathco'		call for pricing		
Lathyrus tuberosus	Tuberosa Sweetpea (Field Pea)		call for pricing		
Lavatera trimestris	Tree Mallow		call for pricing		
Leersia oryzoides	Rice Cutgrass	OBL/OBL/OBL	call for pricing		
Lespedeza bicolor	Bicolor Lespedeza		call for pricing		
Lespedeza capitata, PA & RI Ecotype	Roundhead Lespedeza, PA & RI Ecotype	FACU-/FACU/FACU	call for pricing		
Lespedeza cuneata	Sericea Lespedeza		call for pricing		
Lespedeza frutescens, MD Ecotype	Shrubby Bushclover, MD Ecotype		call for pricing		
Lespedeza stipulacea	Korean Lespedeza	FACU/FACU-/FACU	call for pricing		
Lespedeza virginica, VA & GA Ecotype	Slender Lespedeza, VA & GA Ecotype		call for pricing		
Liatris aspera	Rough Blazing Star		call for pricing		
Liatris elegans, GA Ecotype	Pinkscale Blazing Star, GA Ecotype		call for pricing		
Liatris garberi, FL Ecotype	Garber's Blazing Star, FL Ecotype	NO/FACW/NO	call for pricing		
Liatris gracilis, FL Ecotype	Slender Gayfeather, FL Ecotype	NO/FACU/NO	call for pricing		
Liatris graminifolia (L. pilosa), NC Ecotype	Grassleaf Blazing Star, NC Ecotype		call for pricing		
Liatris pycnostachya	Prairie Blazing Star	FACU/FACU/FAC-	call for pricing		
Liatris spicata	Marsh (Dense) Blazing Star	FAC+/FACU/FAC	call for pricing		
Liatris spicata, FL Ecotype	Marsh (Dense) Blazing Star, FL Ecotype	FAC+/FACU/FAC	call for pricing		
		i	1		

Restoration, Wetlan	nd, Wildflower, and Shri		
Botanical Name	Common Name	Reg 1 / Reg 2 / Reg 3	Price:
Liatris squarrosa, VA Ecotype	Scaly Blazing Star, VA Ecotype		call for pricing
Liatris squarrulosa, NC Ecotype	Appalachian Blazing Star, NC Ecotype		call for pricing
Liatris tenuifolia, FL Panhandle Ecotype	Shortleaf Blazing Star, FL Panhandle Ecotype		call for pricing
Lilium superbum	Turk's Cap Lily	FACW+/FACW/NI	call for pricing
Linaria maroccana	Spurred Snapdragon		call for pricing
Lindera benzoin	Spicebush	FACW-/FACW/FACW-	call for pricing
Linum grandiflorum rubrum	Scarlet Flax		call for pricing
Linum perenne	Perennial Blue Flax		call for pricing
Lobelia cardinalis	Cardinalflower	FACW+/FACW+/OBL	call for pricing
Lobelia puberula, SC Ecotype	Downy Lobelia, SC Ecotype	FACW-FACW-/FACW-	call for pricing
Lobelia siphilitica	Great Blue Lobelia	FACW+/OBL/FACW+	call for pricing
Lobularia maritima	Sweet Alyssum		call for pricing
Lolium multiflorum (L. perenne var. italicum)	Annual Ryegrass		call for pricing
Lolium perenne	Perennial Ryegrass (turf type)	FACU-/FACU/FACU	call for pricing
Ludwigia alternifolia	Seedbox	FACW+/OBL/OBL	call for pricing
Ludwigia liniaris, SC Ecotype	Narrowleaf Primrose Willow, SC Ecotype	OBL/OBL/NO	call for pricing
Ludwigia maritima, NC Ecotype	Seaside Primrose Willow, NC Ecotype	NO/FACW/NO	call for pricing
Lupinus polyphyllus	Bigleaf Lupine		call for pricing
Meliotus officinalis	Yellow Blossom Sweetclover	FACU-/FACU-/FACU	call for pricing
Mimulus ringens	Square Stemmed Monkeyflower	OBL/OBL/OBL	call for pricing
Monarda fistulosa, FIG-PA & Midwestern U.S. Ecotype	Wild Bergamot, FIG & Midwestern U.S. Ecotype	UPL/FACU-/FACU	call for pricing
Monarda media, PA Ecotype	Purple Bergamot, PA Ecotype		call for pricing
Monarda punctata, FL & SC Ecotype	Spotted Beebalm, FL & SC Ecotype	UPL/FAC/UPL	call for pricing
Monarda punctata, NY & MD Ecotype	Spotted Beebalm, NY & MD Ecotype	UPL/FAC/UPL	call for pricing
Muhlenbergia capillaris, FL Ecotype	Hairawn Muhly, FL Ecotype	FACU-/FACU/FACU	call for pricing
Nyssa sylvatica	Blackgum	FAC/FAC/FAC	call for pricing
Oenothera speciosa	Showy Evening Primrose		call for pricing
Onobrychis viciifolia	Eski Sainfoin		call for pricing
Onoclea sensibilis	Sensitive Fern	FACW/FACW/FACW	call for pricing
Panicum amarum, VA Ecotype	Panicgrass, Coastal, 'Atlantic', VA Ecotype	FACU-/FAC/NO	call for pricing
Panicum anceps, VA, SC, GA & FL Ecotype	Beaked Panicgrass, VA, SC, GA & FL Ecotype	FAC/FAC-/FACW	call for pricing
Panicum clandestinum (Dichanthelium c.), 'Tioga'	Deertongue, 'Tioga'	FAC+/FACW/FACW	call for pricing
Panicum dichotomiflorum	Smooth Panicgrass	FACW-/FACW/FACW-	call for pricing
Panicum longifolium (P. rigidulum var. pubescens), FL Ecotype	Longleaf Panicum, FL Ecotype	OBL/OBL/OBL	call for pricing
Panicum miliaceum	White Proso Millet		call for pricing
Panicum rigidulum (P. stipitatum), NC Ecotype	Redtop Panicgrass, NC Ecotype	FACW+/FACW/FACW	call for pricing
Panicum rigidulum (P. stipitatum), PA Ecotype	Redtop Panicgrass, PA Ecotype	FACW+/FACW/FACW	call for pricing
Panicum virgatum	Switchgrass (see Page 1 for cultivars & prices)	FAC/FAC+/FAC+	call for pricing
Papaver rhoeas	Corn Poppy, Red		call for pricing
Papaver rhoeas	Corn Poppy/Shirley Mix		call for pricing
Parthenium integrifolium, NC & Midwestern U.S. Ecotype	Wild Quinine, NC & Midwestern U.S. Ecotype		call for pricing
Parthenocissus quinquefolia	Virginia Creeper	FACU/FAC/FAC-	call for pricing
Paspalum floridanum, 'Harrison'- TX Ecotype	Florida Paspalum, (Beadgrass), 'Harrison'- TX Ecotype	FACW/FACW-/FACW	call for pricing

Restoration, Wetland, Wildflower, and Shrub & Tree Species					
Botanical Name	Common Name	Reg 1 / Reg 2 / Reg 3	Price:		
Peltandra virginica, PA Ecotype	Arrow Arum, PA Ecotype	OBL	call for pricing		
Penstemon australis, 'Suther'-NC Ecotype	Eustis Lake Beardtongue, 'Suther'-NC Ecotype		call for pricing		
Penstemon digitalis	Tall White Beardtongue	FAC/FAC/FAC-	call for pricing		
Penstemon hirsutus	Hairy Beardtongue		call for pricing		
Penstemon laevigatus, PA Ecotype	Appalachian Beardtongue, PA Ecotype	FACU/FAC/NI	call for pricing		
Penstemon laevigatus, SC Ecotype	Appalachian Beardtongue, SC Ecotype	FACU/FAC/NI	call for pricing		
Penstemon multiflorus, FL Ecotype	Manyflower Beardtongue, FL Ecotype		call for pricing		
Penthorum sedoides, PA Ecotype	Ditch Stonecrop, PA Ecotype		call for pricing		
Physocarpus opulifolius, PA Ecotype	Ninebark, PA Ecotype	FACW-/FAC-/FACW-	call for pricing		
Physostegia virginiana	Obedient Plant	FAC+/FACW/FACW	call for pricing		
Platanus occidentalis	American Sycamore	FACW-/FACW-/FACW	call for pricing		
Poa compressa	Canada Bluegrass	FACU/FACU-/FACU+	call for pricing		
1	Fowl Bluegrass	FACW/FAC/FACW+	call for pricing		
Poa palustris	ů – ř				
Poa pratensis	Kentucky Bluegrass	FACU/FACU+/FAC-	call for pricing		
Poa trivialis Polemonium reptans, PA Ecotype	Rough Bluegrass Greek Valerian (Jacob's Ladder), PA	FACW/FACW/FACW	call for pricing		
Polygonum pensylvanicum, OH & Midwestern U.S.	Ecotype PA Smartweed, OH & Midwestern U.S.	FACW/FACW/FACW+	call for pricing		
Ecotype	Ecotype		11 f		
Polygonum sagittatum Pontederia cordata, PA & Midwestern U.S. Ecotype	Arrowleaf Tearthumb Pickerelweed, PA & Midwestern U.S.	OBL/OBL/OBL OBL/OBL/OBL	call for pricing		
Prunus americana	Ecotype American Plum	FACU-/FACU-/UPL	call for pricing		
	Wild Black Cherry	FACU/FACU/FACU			
Prunus serotina Prunus vinciniana	Chokecherry	FACU/FACU/FACU	call for pricing		
Prunus virginiana			call for pricing		
Puccinellia distans	Alkaligrass	OBL/NO/OBL	call for pricing		
Pycnathemum incanum, MD Ecotype	Hoary Mountainmint, MD Ecotype		call for pricing		
Pycnanthemum muticum Pycnanthemum tenuifolium, NC Ecotype	Bigleaf Mountainmint Narrowleaf Mountainmint, NC Ecotype	FACW/FAC/FAC FACW/FAC-/FAC	call for pricing		
Pycnanthemum tenuifolium, PA Ecotype	Narrowleaf Mountainmint, PA Ecotype	FACW/FAC-/FAC	call for pricing		
Pycnanthemum virginianum	Virginia Mountainmint	FAC/FAC/FACW+	call for pricing		
Ratibida columnaris	Red Prairie Coneflower (Mexican Red Hat)		call for pricing		
Ratibida columnifera	Yellow Prairie Coneflower		call for pricing		
Ratibida cotamnifera Ratibida pinnata, AL Ecotype	Gray Coneflower, AL Ecotype		call for pricing		
Ratibida pinnata, OH & Midwestern U.S. Ecotype	Grey Headed Coneflower, OH & Midwestern U.S. Ecotype		call for pricing		
Rhus glabra	Smooth Sumac		call for pricing		
Rhus typhina (R. hirta)	Staghorn Sumac		call for pricing		
Rhynchospora globularis, NC Ecotype	Globe Beaksedge, NC Ecotype	FACW/FACW/FACW	call for pricing		
Robinia fertilis	Bristly Locust	110 W1110 W1110 W	call for pricing		
-	Black Locust	FACU-/UPL/FACU-			
Robinia pseudoacacia		racu-/url/facu-	call for pricing		
Rosa carolina, NC Ecotype	Pasture (Wild) Rose, NC Ecotype		call for pricing		
Rosa palustris	Swamp Rose	OBL/OBL/OBL	call for pricing		
Rubus allegheniensis	Common Blackberry	FACU-/UPL/FACU+	call for pricing		
Rudbeckia amplexicaulis	Clasping Coneflower	NO/FAC/FACU-	call for pricing		
Rudbeckia fulgida var. fulgida, VA Ecotype	Orange Coneflower, VA Ecotype	FAC/FAC+/OBL	call for pricing		
Rudbeckia hirta, AL Ecotype	Blackeyed Susan, AL Ecotype	FACU-/FACU/FACU	call for pricing		

Restoration, Wetland, Wildflower, and Shrub & Tree Species					
Botanical Name	Common Name	Reg 1 / Reg 2 / Reg 3	Price:		
Rudbeckia mohrii, FL Ecotype	Mohr's Coneflower, FL Ecotype	NO/FACW+/NO	call for pricing		
Rudbeckia nitida, GA Ecotype	Shiny Coneflower, GA Ecotype		call for pricing		
Rudbeckia subtomentosa	Sweet Blackeyed Susan	FAC/FAC+/FACU+	call for pricing		
Rudbeckia triloba	Browneyed Susan	FACU/FACU-/FAC-	call for pricing		
Sagittaria latifolia, PA & Midwestern U.S. Ecotype	Duck Potato (Arrowhead), PA & Midwestern U.S. Ecotype	OBL/OBL/OBL	call for pricing		
Sambucus canadensis	Elderberry	FACW-/FACW-/FACW-	call for pricing		
Sambucus racemosa, PA Ecotype	Red Elderberry		call for pricing		
Sangisorba canadensis, PA Ecotype	Canadian Burnet, PA Ecotype	FACW+/FACW+/FACW+	call for pricing		
Saururus cernuus, NC Ecotype	Lizard's Tail, NC Ecotype	OBL/OBL/OBL	call for pricing		
Schizachyrium scoparium (Andropogon scoparius)	Little Bluestem (see Page 1 for cultivars & prices)	FACU-/FACU/FACU-	call for pricing		
Scirpus acutus (Schoenoplectus a.), PA Ecotype	Hardstem Bulrush, PA Ecotype	OBL/OBL/OBL	call for pricing		
Scirpus americanus (S. pungens)	Threesquare Bulrush	FACW+/OBL/NO	call for pricing		
Scirpus atrovirens, PA Ecotype	Green Bulrush, PA Ecotype	OBL/OBL/OBL	call for pricing		
Scirpus cyperinus, PA Ecotype	Woolgrass, PA Ecotype	FACW+/OBL/OBL	call for pricing		
Scirpus expansus, PA Ecotype	Wood Bulrush, PA Ecotype		call for pricing		
Scirpus maritimus (Schoenoplectus m.), Midwestern U.S. Ecotype	Alkali Bulrush, Midwestern U.S. Ecotype	OBL/NI/NI	call for pricing		
Scirpus pendulus, PA Ecotype	Brown Bulrush, PA Ecotype	OBL/OBL/OBL	call for pricing		
Scirpus polyphyllus, PA Ecotype	Many Leaved Bulrush, PA Ecotype	OBL/OBL/OBL	call for pricing		
Scirpus robustus, MD Ecotype	Sturdy Bulrush, MD Ecotype		call for pricing		
Scirpus validus (Schoenoplectus tabernaemontani), PA Ecotype	Softstem Bulrush, PA Ecotype	OBL/OBL/OBL	call for pricing		
Scutellaria incana, PA Ecotype	Hoary Skullcap, PA Ecotype		call for pricing		
Senna hebecarpa (Cassia h.), WV & VA Ecotype	Wild Senna, WV & VA Ecotype	FAC/FAC+/FACW	call for pricing		
Senna marilandica (Cassia m.)	Maryland Senna	FAC+/FAC/FACW	call for pricing		
Silene armeria	Catchfly		call for pricing		
Silphium asteriscus var. angustatum, SC & FL Eco	Starry Rosinweed, SC & FL Ecotype		call for pricing		
Silphium asteriscus var leavicaule, GA Ecotype	Starry Rosinweed, GA Ecotype		call for pricing		
Silphium integrifolium, Midwestern U.S. Ecotype	Prairie Rosinweed, Midwestern U.S. Ecotype		call for pricing		
Silphium laciniatum	Compassplant		call for pricing		
Silphium perfoliatum	Cup Plant	FACU/FAC+/FACW-	call for pricing		
Silphium terebinthinaceum, OH Ecotype	Prairie Dock, OH Ecotype	UPL/UPL/FACU	call for pricing		
Silphium trifoliatum, PA Ecotype	Whorled Rosinweed, PA Ecotype		call for pricing		
Silphium trifoliatum, VA Ecotype	Whorled Rosinweed, VA Ecotype		call for pricing		
Sisyrinchium angustifolium	Narrowleaf Blue Eyed Grass	FACW-/FAC/FACW-	call for pricing		
Solidago bicolor, PA Ecotype	White (Silver Rod) Goldenrod, PA Ecotype		call for pricing		
Solidago canadensis, PA Ecotype	Canada Goldenrod, PA Ecotype	FACU/FACU/FACU	call for pricing		
Solidago juncea, PA & VA Ecotype	Early Goldenrod, PA & VA Ecotype		call for pricing		
Solidago nemoralis, PA & VA Ecotype	Gray Goldenrod, PA & VA Ecotype		call for pricing		
Solidago odora, GA Ecotype	Licorice Scented Goldenrod, GA Ecotyope		call for pricing		
Solidago odora, PA Ecotype	Licorice Scented Goldenrod, PA Ecotype		call for pricing		
Solidago patula, PA Ecotype	Roughleaf Goldenrod, PA Ecotype	OBL/OBL/OBL	call for pricing		
Solidago riddellii (Oligoneuron r.), OH & Midwestern	Riddell's Goldenrod, OH & Midwestern				
U.S. Ecotype	U.S. Ecotype	OBL/OBL/OBL	call for pricing		
Solidago rigida (Oligoneuron rigidum), OH Ecotype	Stiff Goldenrod, OH Ecotype	UPL/FACU/FACU-	call for pricing		

	und, Wildflower, and Shr		
Botanical Name	Common Name	Reg 1 / Reg 2 / Reg 3	Price:
Solidago speciosa, WV & GA Ecotype	Showy Goldenrod, WV & GA. Ecotype		call for pricing
Sorghastrum elliottii, NC Ecotype	Slender Indiangrass, NC Ecotype		call for pricing
Sorghastrum nutans	Indiangrass (see Page 1 for cultivars & pricing)	UPL/FACU/FACU+	call for pricing
Sorghastrum secundum, FL Ecotype	Lopsided Indiangrass, FL Ecotype	NO/FACU-/NO	call for pricing
Sparganium americanum, PA & NC Ecotype	Eastern Bur Reed, PA & NC Ecotype	OBL/OBL/OBL	call for pricing
Sparganium eurycarpum, PA Ecotype	Giant Bur Reed, PA Ecotype	OBL/NO/OBL	call for pricing
Spartina pectinata	Prairie Cordgrass	OBL/OBL/FACW+	call for pricing
Spiraea tomentosa, PA Ecotype	Steeplebush, PA Ecotype	FACW/FACW/FACW	call for pricing
Sporobolus asper	Rough Dropseed	UPL/UPL/UPL	call for pricing
Sporobolus cryptandrus	Sand Dropseed	UPL/UPL/FACU-	call for pricing
Sporobolus heterolepis	Prairie Dropseed	UPL/UPL/FACU-	call for pricing
Stipa viridula	Green Needlegrass		call for pricing
Tephrosia virginiana	Goat's Rue		call for pricing
Tradescantia ohiensis, AL Ecotype	Ohio Spiderwort, AL Ecotype	FAC/FAC-/FACU+	call for pricing
Tradescantia ohiensis, PA & IA Ecotype	Ohio Spiderwort, PA & IA Ecotype	FAC/FAC-/FACU+	call for pricing
Tradescantia subaspera, VA Ecotype	Zigzag Spiderwort, VA Ecotype		call for pricing
Tradescantia virginiana, PA/VA Ecotype blend	Virginia Spiderwort, PA/VA Ecotype blend	FACU/FAC+/UPL	call for pricing
Tridens flavus, MO & FIG-PA Ecotype	Purpletop, MO & FIG-PA Ecotype	FACU/FACU/UPL	call for pricing
Tridens flavus, VA & 'Suther'-NC Ecotype	Purpletop, VA & 'Suther'-NC Ecotype	FACU/FACU/UPL	call for pricing
Tripsacum dactyloides	Eastern Gamagrass	FACW/FAC+/FAC+	call for pricing
Typha angustifolia, PA Ecotype	Narrowleaf Cattail, PA Ecotype	OBL/OBL/OBL	call for pricing
Typha latifolia, PA Ecotype	Broadleaf Cattail, PA Ecotype	OBL/OBL/OBL	call for pricing
Urochloa ramosa (Panicum ramosum)	Brown Top Millet		call for pricing
Veratrum viride, PA Ecotype	False Hellebore, PA Ecotype	FACW+/FAC+/FACW+	call for pricing
Verbena hastata, PA Ecotype	Blue Vervain, PA Ecotype	FACW+/FAC/FACW+	call for pricing
Verbena urticifolia, PA Ecotype	White Vervain, PA Ecotype	FACU/FAC+/FAC+	call for pricing
Verbesina alternifolia (Actinomeris a.), PA Ecotype	Wingstem, PA Ecotype	FAC/FAC/FACW	call for pricing
Vernonia acaulis, SC Ecotype	Stemless Ironweed, SC Ecotype		call for pricing
Vernonia angustifolia, SC Ecotype	Tall Ironweed, SC Ecotype		call for pricing
Vernonia fasciculata	Prairie Ironweed	FAC+/FACW/FACW	call for pricing
Vernonia gigantea (V. altissima), FL Ecotype	Giant Ironweed, FL Ecotype	FAC/FAC+/FAC	call for pricing
Vernonia gigantean (V. altissima, PA Ecotype	Giant Ironweed, PA Ecotype	FAC/FAC+/FAC	call for pricing
Vernonia noveboracensis, 'Suther'-NC Ecotype	New York Ironweed, 'Suther'-NC Ecotyp	e FACW+/FAC+/NI	call for pricing
Vernonia noveboracensis, PA Ecotype	New York Ironweed, PA Ecotype	FACW+/FAC+/NI	call for pricing
Veronicastrum virginicum, PA Ecotype	Culver's Root, PA Ecotype		call for pricing
Viburnum dentatum, PA Ecotype	Arrowwood, PA Ecotype	FAC/FAC/FAC	call for pricing
Viburnum lentago, PA Ecotype	Nannyberry, PA Ecotype	FAC/FAC/FAC+	call for pricing
Viburnum nudum var. cassinoides, PA Ecotype	Withe Rod, PA Ecotype	FACW/FACW/FACW	call for pricing
Viburnum prunifolium, PA Ecotype	Blackhaw, PA Ecotype	FACU/FACU/FACU	call for pricing
Viburnum trilobum	American Cranberry	FACW/NI/FACW	call for pricing
Viola cornuta	Johnny Jumpup		call for pricing
Vitis spp.	Wild Grape		call for pricing
Zizania aquatica	Wildrice	OBL/OBL/OBL	call for pricing
Zizia aurea	Golden Alexanders	FAC/FAC+/FAC+	18

*Please Note:* All prices are subject to change and items are quoted subject to availability. Please call 1-877-775-7826 to verify price and availability.

#### Wildflowers COMMON NAME SCIENTIFIC NAME Price / Ib. Achillea filipendulina Gold Yarrow \$150.00 \$41.67 Achillea millefolium White Yarrow Achillea millefolium occidentalis Western Yarrow \$53.33 Achillea millefolium rubra Red Yarrow \$166.67 \$133.33 Agastache foeniculum Lavender Hyssop Agastache rugosa Purple Giant Hyssop \$93.33 Agastache urticifolia Nettleleaf Horsemint \$191.67 Hollyhock, Single Mixed Alcea rosea \$46.67 Allium cernuum Nodding Pink Onion \$291.67 Basket-of-Gold \$116.67 Alvssum saxatile Amaranthus caudatus Love Lies Bleeding \$13.33 Amberboa moschata 'Imperialis Mix' Sweet Sultan, Mixed \$41.67 Ammi majus Bishop's Flower \$23.33 Winged Everlasting Ammobium alatum #N/A \$116.67 Amorpha canescens Leadplant Cape Forget-Me-Not Anchusa capensis \$60.00 annuus 'Chocolate Cherry' Sunflower \$25.00 Roman Chamomile Anthemis nobilis \$166.67 Snapdragon, Mixed Antirrhinum majus 'Tetra Mix' \$96.67 Aquilegia caerulea Columbine, Blue \$200.00 Aquilegia caerulea 'McKana Giants Mix' Columbine, Mixed Colors \$200.00 Aquilegia canadensis Eastern Columbine \$336.67 Aquilegia vulgaris Columbine, Dwarf Mixed \$100.00 Arabis alpina White Rockcress \$200.00 Asclepias curassavica Bloodflower \$83.33 Narrow-Leaved Milkweed Asclepias fascicularis \$433.33 Swamp Milkweed \$383.33 Asclepias incarnata Showy Milkweed \$358.33 Asclepias speciosa Asclepias syriaca Common Milkweed \$290.00 Butterfly Milkweed \$358.33 Asclepias tuberosa Aster laevis Smooth Aster \$416.67 Aster novae-angliae New England Aster \$533.33 Aster pilosus Frost Aster \$583.33 Aster ptarmicoides White Upland Aster \$208.33 Astragalus canadensis Canadian Milkvetch \$80.00 Aubrieta deltoidea **Purple Rockcress** \$208.33 Desert Marigold Baileya multiradiata \$150.00 Balsamorhiza sagittata Arrowleaf Balsamroot \$158.33 \$476.67 Blue Wild Indigo Baptisia australis Bellis perennis English Daisy, Mixed \$150.00 English Daisy, Single White \$158.33 Bellis perennis Berlandiera lyrata Chocolate Flower 10.00/gram Bidens aristosa Tickseed Sunflower \$58.33 Borago officinalis Borage \$16.67 Brickellia eupatorioides False Boneset \$525.00 Calendula officinalis 'Ball's Orange' Calendula, Orange \$20.00 Calendula officinalis 'Fiesta Gitana' Calendula, Dwarf Mixed \$23.33 Calendula officinalis 'Pacific Beauty Mix' Calendula, Mixed \$18.33 Callistephus chinensis 'Crego Mix' China Aster, Mixed \$30.00 Callistephus chinensis 'Powder Puff' China Aster, Mixed \$30.00 Callistephus chinensis 'Single Mix' China Aster, Mixed \$30.00 Tussock Bellflower Campanula carpatica \$140.00 Centaurea cyanus Cornflower, Tall Pink \$11.67 Cornflower, Tall Red \$11.67 Centaurea cyanus Centaurea cyanus Cornflower, Tall Mixed \$10.83 Centaurea cyanus Cornflower, Tall White \$11.67 Cornflower, Tall Blue Centaurea cyanus \$9.17 Centaurea cyanus Cornflower, Dwarf Blue \$11.67 Centaurea cyanus 'Polka Dot Mix' Cornflower, Dwarf Mixed \$12.50 Cerastium biebersteinii Snow-in-Summer \$120.00 Partridge Pea Chamaecrista fasciculata \$20.00 Siberian Wallflower Cheiranthus allionii \$16.67 Chrysanthemum carinatum Painted Daisy \$33.33 Chrysanthemum coronarium Garland Daisy \$13.33 Chrysanthemum leucanthemum Ox-Eye Daisy \$26.67 Chrysanthemum maximum 'Alaska' Shasta Daisy \$33.33 \$100.00 Chrysanthemum maximum 'Silver Princess' Shasta Daisy, Dwarf Chrysanthemum multicaule Yellow Daisy \$110.00 Chrysanthemum paludosum Creeping Daisy \$103.33

SCIENTIFIC NAME	<u>COMMON NAME</u>	<u>Price / Ib.</u>
Cichorium intybus	Chicory	\$11.67
Clarkia amoena	Godetia, Dwarf	\$35.00
Clarkia pulchella	Deerhorn Clarkia Clarkia	\$116.67
Clarkia unguiculata Cleome hassleriana	Spider Plant	\$38.33 \$30.00
Cleome serrulata	Rocky Mountain Beeplant	\$76.67
Coleus blumei 'Rainbow Mix'	Coleus	\$500.00
Collinsia heterophylla	Chinese Houses	\$43.33
Coreopsis basalis	Golden Wave Tickseed	\$43.33
Coreopsis bigelovii	Bigelow's Tickseed	\$83.33
Coreopsis lanceolata	Lance-Leaved Coreopsis, Dwarf	\$43.33
Coreopsis lanceolata	Lance-Leaved Coreopsis	\$33.33
Coreopsis leavenworthii	Leavenworth's Tickseed	\$41.67
Coreopsis nuecensis	Crown Tickseed	\$30.00
Coreopsis tinctoria	Plains Coreopsis, Dwarf Red	\$30.00
Coreopsis tinctoria Coreopsis tinctoria	Plains Coreopsis, Dwarf Plains Coreopsis	\$30.00 \$26.67
Cosmos bipinnatus	Cosmos, Dwarf Mixed	\$20.07
Cosmos bipinnatus 'Candystripe'	Cosmos, White w/ Crimson Markings	\$33.55
Cosmos bipinnatus 'Daydream'	Cosmos, White w/Rose Blush	\$21.67
Cosmos bipinnatus 'Dazzler'	Cosmos, Crimson	\$20.00
Cosmos bipinnatus 'Gloria'	Cosmos, Pink w/Purple Eye	\$20.00
Cosmos bipinnatus 'Picotee'	Cosmos, White w/Magenta Edges	\$21.67
Cosmos bipinnatus 'Pinkie'	Cosmos, Pink	\$21.67
Cosmos bipinnatus 'Purity'	Cosmos, White	\$21.67
Cosmos bipinnatus 'Radiance'	Cosmos, Deep Rose w/Crimson Eye	\$21.67
Cosmos bipinnatus 'Sea Shells'	Cosmos, Tubular petals	\$26.67
Cosmos bipinnatus 'Sensation Mix'	Cosmos, Tall Mixed	\$20.00
Cosmos bipinnatus, Yellow	Cosmos, Tall Yellow	\$26.67
Cosmos sulphureus	Sulphur Cosmos, Dwarf Gold	\$40.00
Cosmos sulphureus	Sulphur Cosmos, Dwarf Lemon	\$40.00 \$40.00
Cosmos sulphureus Cosmos sulphureus	Sulphur Cosmos, Dwarf Orange Sulphur Cosmos, Dwarf Red	\$40.00
	Sulphur Cosmos, Dwarf Red	\$40.00
Cosmos sulphureus Cosmos sulphureus 'Bright Lights'	Sulphur Cosmos, Jwari Mixed Sulphur Cosmos, Tall Mixed	\$40.00
Cynoglossum amabile	Chinese Forget-Me-Not	\$13.33
Dahlia variabilis 'Dwarf Single Mix'	Dahlia, Dwarf Mixed	\$110.00
Dalea candida	Prairie Clover, White	\$143.33
Dalea purpurea	Prairie Clover, Purple	\$66.67
Delphinium consolida 'Imperial Mix'	Rocket Larkspur, Mixed	\$28.33
Delphinium cultorum 'Pacific Giants Mix'	Delphinium	\$183.33
Desmanthus illinoensis	Illinois Bundleflower	\$20.00
Desmodium canadense	Showy Tick Trefoil	\$123.33
Dianthus barbatus	Sweet William Pinks	\$21.67
Dianthus caryophyllus 'Chabaud Mix'	Clove Carnation	\$190.00
Dianthus chinensis	Chinese Pinks	\$50.00
Dianthus deltoides	Maiden Pinks, Mixed	\$100.00
Dianthus deltoides 'Brilliant' Dianthus giganteus	Maiden Pinks, Bright Rose Gigantic Pink	\$183.33 #N/A
Dianthus giganteus Dianthus hybridus 'Large Flowered Mix'	Dianthus	\$116.67
Dianthus hybridus 'Rainbow Loveliness'	Dianthus	\$83.33
Dianthus plumarius	Cottage Pinks	\$50.00
Dianthus superbus	Fringed Pinks	\$53.33
Digitalis purpurea 'Excelsior Mix'	Foxglove, Mixed	\$91.67
Dimorphotheca (D. aurantiaca) sinuata	African Daisy, Flake	\$40.00
Dimorphotheca (D. aurantiaca) sinuata	African Daisy, Stick	\$70.00
Dorotheanthus (Mesembryanthemum criniflorum) bellidiformis	Annual Iceplant, Mixed	\$45.00
Echinacea angustifolia	Narrow-Leaf Purple Coneflower	\$200.00
Echinacea pallida	Pale Purple Coneflower	\$100.00
Echinacea paradoxa	Yellow Coneflower	33.50/oz.
Echinacea purpurea	Purple Coneflower	\$28.33
Echinacea tennesseensis	Tennessee Purple Coneflower	\$233.33
elegans	Zinnia, Giant Scarlet	\$26.67
elegans	Zinnia, Giant White Zinnia, Giant Yellow	\$26.67 \$26.67
elegans elegans	Zinnia, Giant Yellow Zinnia, Giant Coral	\$26.67
elegans 'Envy'	Zinnia, Green	\$26.67
elegans 'Ice Queen'	Zinnia, Bi-colored	\$26.67
elegans 'Will Rogers'	Zinnia, Red	\$26.67
Engelmannia peristenia	Engelmann Daisy	\$63.33

SCIENTIFIC NAME	COMMON NAME	<u>Price / lb.</u>
Eriogonum umbellatum	Sulphur Flower	\$295.00
Eriophyllum lanatum	Oregon Sunshine	\$316.67
Eryngium yuccifolium	Rattlesnake Master California Poppy, Dwarf	\$333.33
Eschscholzia caespitosa Eschscholzia californica	California Poppy	\$133.33 \$30.00
Eschscholzia californica	California Poppy, Formula Mix	\$41.67
Eschscholzia californica 'Ballerina Mix'	California Poppy, Mixed with Crimped Petals	\$100.00
Eschscholzia californica 'Carmine King'	California Poppy, Rose	\$40.00
Eschscholzia californica 'Golden West'	California Poppy, Gold	\$40.00
Eschscholzia californica 'Ivory Castle'	California Poppy, White	\$50.00
Eschscholzia californica 'Mikado'	California Poppy, Dark Orange	\$40.00
Eschscholzia californica 'Mission Bells'	California Poppy, Semi-Double Mix	\$66.67
Eschscholzia californica 'Purple Gleam'	California Poppy, Purple	\$40.00
Eschscholzia californica 'Red Chief'	California Poppy, Bright Red	\$60.00
Eschscholzia californica 'White Linen'	California Poppy, White	\$50.00
Eupatorium maculatum	Joe Pyeweed	\$633.33
Eupatorium perfoliatum	Boneset	\$500.00
Gaillardia aristata	Yellow Gaillardia	\$75.00
Gaillardia aristata	Blanketflower	\$30.00
Gaillardia pulchella	Indian Blanket	\$46.67
Gaura lindheimeri	Gaura	\$73.33
Gazania linearis 'Colorado Gold'	Treasure Flower	13.50/gram
Gilia capitata Cilia tricolor	Globe Gilia	\$33.33 \$36.67
Gilia tricolor Gypsophila elegans	Bird's Eyes	\$36.67
Gypsophila elegans Gypsophila elegans	Baby's Breath, Annual Baby's Breath, Carmine	<u>\$8.33</u> \$46.67
Gypsophila paniculata	Baby's Breath, Perennial	\$40.00
Hedysarum boreale	Utah Sweetvetch	\$190.00
Helenium amarum	Dwarf Helenium	\$190.00
Helenium amarum	Dwarf Helenium	\$83.33
Helenium autumnale	Autumn Sneezeweed	\$66.67
Helianthus angustifolius	Swamp Sunflower	\$183.33
Helianthus annuus	Wild Sunflower	\$46.67
Helianthus annuus	Sunflower, Grey Stripe	\$8.33
Helianthus annuus 'Autumn Beauty'	Sunflower	\$11.67
Helianthus annuus 'Dwarf Sungold'	Sunflower, Dwarf Double	\$28.33
Helianthus annuus 'Lemon Queen'	Sunflower	\$20.00
Helianthus annuus 'Sunspot'	Sunflower, Dwarf Single	\$16.67
Helianthus annuus 'Velvet Queen'	Sunflower	\$20.00
Helianthus maximiliani	Maximilian Sunflower	\$43.33
Helianthus petiolaris	Prairie Sunflower	\$53.33
Helichrysum bracteatum	Strawflower, Dwarf Mixed	\$66.67
Helichrysum bracteatum	Strawflower, Tall Mixed	\$60.00
Helichrysum subulifolium Heliopsis helianthoides	Strawflower, Yellow	\$66.67
	Ox-Eye Sunflower	\$40.00
Helipterum roseum Hesperis matronalis	Paper Daisy Dame's Rocket	\$53.33 \$16.67
Heterotheca villosa	Golden Aster	\$10.67
Iberis amara 'Empress'	Rocket Candytuft	\$210.07
Iberis umbellata	Annual Candytuft	\$20.00
Impatiens balsamina 'Bush Mix'	Balsam	\$50.00
Impatiens balsamina 'Camelia Flowered Mix'	Balsam	\$41.67
Impatiens balsamina 'Tom Thumb Mix'	Balsam	\$50.00
Ipomoea alba	Moonflower	\$15.00
Ipomoea nil 'Scarlet O'Hara'	Morning Glory, Scarlet	\$13.33
Ipomoea purpurea, 'Grandpa Ott'	Morning Glory, Purple with Red Star	\$10.83
Ipomoea purpurea, 'Tall Mix'	Morning Glory, Mixed Colors	\$8.33
Ipomoea tricolor 'Heavenly Blue'	Morning Glory, Blue	\$8.33
Ipomopsis rubra	Gilia	\$90.00
Iris missouriensis	Wild Blue Iris	\$100.00
Lasthenia glabrata	Goldfields	\$40.00
Lathyrus odoratus 'Bijou Mix'	Annual Sweet Pea, Dwarf	\$40.00
Lathyrus odoratus 'Dwarf Cupid Pink'	Annual Sweet Pea, Dwarf Pink	\$36.67
Lathyrus odoratus 'Early Multiflora Mix'	Annual Sweet Pea, Early	\$36.67
Lathyrus odoratus 'Heirloom Mix'	Annual Sweet Pea, Heirloom types	\$33.33
Lathyrus odoratus 'High Scent'	Annual Sweet Pea, Very Fragrant	\$58.33
Lathyrus odoratus 'Knee High Mix'	Annual Sweet Pea, Semi-Dwarf	\$43.33
Lathyrus odoratus 'Mammoth Mix'	Annual Sweet Pea, Long Stemmed	\$50.00
Lathyrus odoratus 'Royal Family Mix'	Annual Sweet Pea, Large, Fragrant	\$33.33
latifolia	Broadleaf Milkweed	\$383.33

SCIENTIFIC NAME	COMMON NAME	Price / Ib.
Layia platyglossa	Tidy-Tips	\$100.00
Lespedeza capitata	Roundheaded Bush Clover	\$316.67
Liatris punctata Liatris pycnostachya	Dotted Gayfeather Thickspike Gayfeather	\$250.00 \$596.67
Liatris spicata	Gayfeather	\$78.33
Linanthus (Leptosiphon) grandiflorus	Mountain Phlox	\$73.33
Linaria maroccana 'Fairy Bouquet'	Spurred Snapdragon, Dwarf Mixed	\$43.33
Linaria maroccana 'Northern Lights'	Spurred Snapdragon, Tall Mixed	\$35.00
Linum grandiflorum rubrum	Scarlet Flax	\$33.33
Linum lewisii	Lewis Flax	\$43.33
Linum perenne	Blue Flax	\$41.67
Lobularia maritima	Sweet Alyssum, Tall White	\$36.67
Lobularia maritima	Sweet Alyssum, Dwarf Pink	\$130.00
Lobularia maritima 'Carpet of Snow' Lobularia maritima 'Royal Carpet'	Sweet Alyssum, Dwarf White Sweet Alyssum, Dwarf Purple	\$50.00 \$90.00
Lotus corniculatus	Bird's Foot Trefoil	\$90.00
Lunaria biennis	Money Plant	\$23.33
Lupinus argenteus	Mountain Lupine	\$278.33
Lupinus densiflorus aureus	Yellow Lupine	\$36.67
Lupinus elegans 'Pink Fairy'	Lupine, Elegant	\$30.00
Lupinus hartwegii nanus 'Pixie Delight'	Lupine, Dwarf Mixed	\$28.33
Lupinus perennis	Perennial Lupine	\$33.33
Lupinus polyphyllus	Lupine, Bigleaf	\$33.33
Lupinus polyphyllus	Russell Lupine	\$33.33
Lupinus succulentus	Arroyo Lupine	\$43.33
Lupinus texensis	Texas Bluebonnet	\$50.00
Lychnis chalcedonica	Maltese Cross	\$40.00
Machaeranthera bigelovii	Bigelow's Aster	\$233.33
Machaeranthera tanacetifolia Malcolmia maritima	Prairie Aster Virginia Stock	\$141.67 \$30.00
Matchina mancina Matthiola bicornis	Evening Scented Stock	\$23.33
Melilotus alba	Sweet Clover, White	\$8.33
Melilotus officinalis	Sweet Clover, Yellow	\$6.67
Mentzelia lindleyi	Blazing Star	\$150.00
Mirabilis jalapa	Four O'Clock, Formula Mix	\$10.83
Mirabilis jalapa	Four O'Clock, Pink	\$12.50
Mirabilis jalapa	Four O'Clock, Red	\$12.50
Mirabilis jalapa	Four O'Clock, Rose	\$12.50
Mirabilis jalapa	Four O'Clock, White	\$12.50
Mirabilis jalapa	Four O'Clock, Yellow	\$12.50
Mirabilis multiflora	Four O'Clock, Wild	\$300.00
Moluccella laevis	Bells of Ireland	\$66.67
Monarda citriodora Monarda fistulosa	Lemon Mint Bergamot	\$50.00 \$150.00
Monarda punctata	Spotted Beebalm	\$150.00
Myosotis sylvatica	Forget-Me-Not	\$80.00
Nemophila maculata	Five-Spot	\$36.67
Nemophila menziesii	Baby Blue-Eyes	\$50.00
Nicotiana alata 'Sensation Mixed'	Flowering Tobacco	\$100.00
Nigella damascena 'Miss Jekyll'	Love-in-a-Mist	\$20.00
Oenothera biennis	Evening Primrose	\$38.33
Oenothera lamarckiana	Common Evening Primrose	\$16.67
Oenothera missouriensis	Dwarf Evening Primrose	\$60.00
Oenothera pallida	Pale Evening Primrose	\$75.00
Oenothera speciosa Osteospermum eklonis	Showy Evening Primrose Cape Daisy, White	\$46.67
Papaver nudicaule	Iceland Poppy	\$41.67 \$91.67
Papaver orientale	Oriental Poppy	\$133.33
Papaver rhoeas	Corn Poppy, Red	\$133.33
Papaver rhoeas	Corn Poppy, Single Mixed	\$28.33
Penstemon angustifolius	Narrow-Leaved Beardtongue	\$183.33
Penstemon digitalis	Smooth Penstemon	\$166.67
Penstemon eatonii	Eaton's Penstemon	\$283.33
Penstemon grandiflorus	Shell-Leaf Penstemon	\$483.33
Penstemon hirsutus	Hairy Beardtongue	\$116.67
Penstemon palmeri	Palmer Penstemon	\$96.67
Penstemon pseudospectabilis	Desert Penstemon	34.00/oz.
Penstemon strictus	Rocky Mountain Penstemon	\$66.67
peruviana	Peruvian Zinnia	\$41.67
Petunia nana compacta	Petunia, Dwarf Mixed	\$140.00
Petunia nana compacta 'Fire Chief'	Petunia, Dwarf	\$133.33

SCIENTIFIC NAME	COMMON NAME	Price / Ib.
Petunia violacea Phacelia campanularia	Wild Petunia California Bluebell	\$140.00 \$40.00
Phacelia campandiana Phacelia tanacetifolia	Lacy Phacelia	\$40.00
Phlox drummondii	Annual Phlox, Red	\$68.33
Phlox drummondii	Annual Phlox, Mixed	\$65.00
Potentilla fissa	Bigflower Cinquefoil	\$150.00
Potentilla thurberi	Scarlet Cinquefoil	\$150.00
Pycnanthemum tenuifolium	Mountain Mint, Slender	\$283.33
Ratibida columnifera	Prairie Coneflower	\$36.67
Ratibida columnifera	Mexican Hat	\$36.67
Ratibida columnifera	Coneflower, Dwarf Red	\$36.67
Ratibida pinnata	Grey-Headed Coneflower	\$100.00
Reseda odorata	Sweet Mignonette	\$25.00
Rudbeckia amplexicaulis Rudbeckia hirta	Clasping Coneflower Black-Eyed Susan	\$14.17 \$30.00
Rudbeckia hirta 'Gloriosa'	Gloriosa Daisy	\$36.67
Rudbeckia hirta 'Indian Summer'	Rudbeckia	5.00/gram
Rudbeckia hirta 'Marmalade'	Rudbeckia, Dwarf	\$108.33
Rudbeckia laciniata	Cutleaf Coneflower	\$133.33
Rudbeckia subtomentosa	Sweet Black-Eved Susan	\$160.00
Rudbeckia triloba	Brown-Eyed Susan	\$316.67
Salvia coccinea	Scarlet Sage	\$75.00
Salvia farinacea	Blue Sage	\$106.67
Sanvitalia procumbens	Creeping Zinnia	\$116.67
Saponaria ocymoides	Soapwort	\$36.67
Scabiosa atropurpurea 'Imperial Mix'	Pincushion Flower, Mixed	\$66.67
Senna hebecarpa	Wild Senna	\$73.33
Silene armeria	Catchfly	\$26.67
Silene pendula	Nodding Catchfly	\$25.00
Silphium laciniatum	Compass Plant	\$216.67
Silphium perfoliatum	Cup Plant	\$170.00
Solidago nemoralis Solidago rigida	Gray Goldenrod Rigid Goldenrod	\$216.67 \$283.33
Sphaeralcea ambigua	Desert Globemallow	\$283.33
Sphaeralcea coccinea	Scarlet Globernallow	\$361.67
Sphaeralcea munroana	Munro's Globernallow	\$208.33
sulphureus 'Crest Gold'	Sulphur Cosmos, Tall Gold	\$20.00
sulphureus 'Crest Orange'	Sulphur Cosmos, Tall Orange	\$20.00
sulphureus 'Crest Red'	Sulphur Cosmos, Tall Red	\$20.00
Tagetes erecta 'Crackerjack'	African Marigold	\$13.33
Tagetes patula 'Dainty Marietta'	French Marigold, Single	\$41.67
Tagetes patula 'Naughty Marietta'	French Marigold, Single	\$41.67
Tagetes patula Nematode Control	Marigold, Nematode Control	\$20.00
Tagetes patula 'Petite Mix'	French Marigold	\$33.33
Tagetes patula 'Sparky Mix'	French Marigold	\$16.67
Thelesperma filifolium	Greenthread	\$100.00
Thunbergia alata Thymophylla tenuiloba	Black-Eyed Susan Vine Dahlberg Daisy	\$50.00 \$250.00
Thymus pulegioides	Wild Thyme	\$90.00
Thymus serpyllum	Creeping Thyme	\$133.33
Tithonia rotundifolia	Mexican Sunflower	\$16.67
Tradescantia occidentalis	Prairie Spiderwort	\$233.33
Tradescantia ohiensis	Ohio Spiderwort	\$266.67
Trifolium fragiferum	Strawberry Clover	\$20.00
Trifolium incarnatum	Crimson Clover	\$5.00
Tropaeolum majus	Nasturtium, Single Mixed	\$10.00
Tropaeolum nanum 'Alaska Mix'	Nasturtium, Dwarf Mixed	\$13.33
Tropaeolum nanum 'Empress of India'	Nasturtium, Dwarf	\$13.33
Tropaeolum nanum 'Jewel Mix'	Nasturtium, Dwarf Mixed	\$15.00
Tropaeolum nanum 'Peach Melba'	Nasturtium, Dwarf	\$13.33
Tropaeolum nanum 'Tip Top Mix'	Nasturtium, Dwarf Mixed	\$13.33
Verbena bonariensis Verbena hastata	Purpletop Vervain Blue Vervain	\$100.00 \$100.00
Verbena hybrida 'Ideal Florist Mix'	Verbena	\$100.00
Verbena stricta	Hoary Vervain	\$133.33
Verbena tenuisecta	Moss Verbena, Purple	\$41.67
Verbena tenuisecta	Moss Verbena, Mixed Colors	\$100.00
Verbesina encelioides	Golden Crownbeard	\$150.00
Vernonia fasciculata	Prairie Ironweed	\$333.33
Viguiera (Heliomeris) multiflora	Showy Goldeneye	\$200.00
Viola cornuta 'Helen Mount'	Johnny Jump-Up	\$106.67

<u>SCIENTIFIC NAME</u>	<u>COMMON NAME</u>	<u>Price / Ib.</u>
Viola corsica	Corsican Violet	8.50/gram
Viola wittrockiana 'Swiss Giants'	Pansy, Mixed	\$300.00
virginianum	Mountain Mint, Virginia	\$500.00
Wyethia amplexicaulis	Mule's Ears	\$88.33
Zinnia elegans	Zinnia, Dark Violet	\$26.67
Zinnia elegans	Zinnia, Rose	\$26.67
Zinnia elegans	Zinnia, Coral	\$26.67
Zinnia elegans	Zinnia, Lavender	\$26.67
Zinnia elegans 'Cactus Flowered Mix'	Zinnia, Mixed	\$26.67
Zinnia elegans 'California Giants Mix'	Zinnia, Mixed	\$25.00
Zinnia elegans 'Canary Bird'	Zinnia, Yellow	\$26.67
Zinnia elegans 'Cherry Queen'	Zinnia, Red	\$26.67
Zinnia elegans 'Dahlia Flowered Mix'	Zinnia, Mixed	\$25.00
Zinnia elegans 'Lilliput Mix'	Zinnia, Dwarf Mixed	\$26.67
Zinnia elegans 'Luminosa'	Zinnia, Pink	\$26.67
Zinnia elegans 'Meteor'	Zinnia, Burgundy	\$26.67
Zinnia elegans 'Orange King'	Zinnia, Orange	\$26.67
Zinnia elegans 'Polar Bear'	Zinnia, White	\$26.67
Zinnia elegans 'Pumila Mix'	Zinnia, Cut-and-Come Again	\$21.67
Zinnia elegans 'Purple Prince'	Zinnia, Purple	\$26.67
Zinnia elegans 'Scarlet Flame'	Zinnia, Scarlet	\$26.67
Zinnia elegans 'Sombrero'	Zinnia, Bi-colored	\$26.67
Zinnia elegans 'State Fair'	Zinnia, Tall Mixed	\$66.67
Zinnia elegans 'Thumbelina'	Zinnia, Dwarf Mixed	\$58.33
Zinnia haageana 'Persian Carpet'	Mexican Zinnia	\$116.67
Zinnia linearis	Classic Zinnia	\$325.00
Zizia aurea	Golden Alexander	\$158.33

### Herbs

SCIENTIFIC NAME	<u>COMMON NAME</u>	<u>Price / Ib.</u>
Allium schoenoprasum	Chives	\$65.00
Anethum graveolens	Dill	\$10.00
Anthemis nobilis	Roman Chamomile	\$166.67
Borago officianalis	Borage	\$16.67
Coriandrum sativum	Cilantro	\$5.00
Echinacea angustifolia	Narrow-Leaf Purple Coneflower	\$200.00
Echinacea pallida	Pale Purple Coneflower	\$100.00
Echinacea purpurea	Purple Coneflower	\$28.33
Foeniculum vulgare	Fennel	\$20.00
Lavandula angustifolia	Lavender	\$108.33
Melissa officinalis	Lemon Balm	\$83.33
Monarda citriodora	Lemon Mint	\$50.00
Monarda fistulosa	Bergamot	\$150.00
Nepeta cataria	Catnip	\$100.00
Ocimum basilicum citriodorum	Lemon Basil	\$58.33
Ocimum basilicum 'Genovese Type'	Sweet Basil	\$10.83
Ocimum basilicum 'Italian Large Leaf'	Sweet Basil	\$10.83
Ocimum basilicum 'Siam Queen'	Sweet Basil	\$35.00
Origanum vulgare	Oregano	\$133.33
Petroselinum crispum	Curled Parsley	\$15.00
Petroselinum crispum latifolium	Italian Parsley	\$13.33
Salvia officinalis	Sage	\$90.00
Thymus vulgaris	German or Winter Thyme	\$108.33

#### **Wildflower Mixes** MIXTURE NAME MIXTURE TYPE Price / Ib. High Plains Native Mix Native Regional Mixture \$88.33 Intermountain Native Mix Native Regional Mixture \$125.00 Midwest Native Mix Native Regional Mixture \$91.67 Native Regional Mixture Mountain Native Mix \$115.00 Northeast Native Mix Native Regional Mixture \$125.00 Northwest Native Mix Native Regional Mixture \$55.00 Southeast Native Mix Native Regional Mixture \$55.00 Southwest Native Mix Native Regional Mixture \$75.00 Texas/Oklahoma Native Mix Native Regional Mixture \$55.00 Pollinator Mixture \$33.33 Bee Feed Mix Bumblebee Buffet Mix **Pollinator Mixture** \$36.67 **Eastern Pollinator Mix** Pollinator Mixture \$108.33 Pollinator Mixture Honey Bee Flower Mix \$35.00

SCIENTIFIC NAME	COMMON NAME	<u>Price / Ib</u>
Ionarch Butterfly Garden Mix	Pollinator Mixture	\$33.33
lative Flower Mix for Monarchs	Pollinator Mixture	\$116.67
ollinator Conservation: Foothills Mix	Pollinator Mixture	\$116.67
ollinator Conservation: High Mountain Mix	Pollinator Mixture	\$105.00
ollinator Conservation: High Plains Mix	Pollinator Mixture	\$105.00
Vestern Pollinator Mix	Pollinator Mixture	\$75.00
ggressive Amendment	Special Use Mixture	\$23.33
Iternative Lawn Mix	Special Use Mixture	\$58.33
Annuals For Sun	Special Use Mixture	\$35.00
eneficial Bug Mix	Special Use Mixture Special Use Mixture	\$33.33
Sird & Butterfly Mix Sird Lover's Mix		\$36.67 \$36.67
Butterfly Mix	Special Use Mixture Special Use Mixture	
Colorscape Garden Flower Mix	Special Use Mixture	\$46.67 \$38.33
Cottage Garden Mix	Special Use Mixture	\$36.67
Cutflower Mix	Special Use Mixture	\$30.00
Deer Resistant Mix	Special Use Mixture	\$30.00
Dry Mix	Special Use Mixture	\$31.07
asy Care Children's Garden Mix	Special Use Mixture	\$30.07
dible Flower Mix	Special Use Mixture	\$23.33
verlasting Flower Mixture	Special Use Mixture	#N/A
	Special Use Mixture	\$53.33
Fragrant Mix	Special Use Mixture	\$36.67
Golf Mix	Special Use Mixture	\$31.67
lummingbird Mix	Special Use Mixture	\$45.00
Knee-Hi Mix	Special Use Mixture	\$28.33
.ow-Growing Mix	Special Use Mixture	\$35.00
loist Mix	Special Use Mixture	#N/A
lative Colorado Mix	Special Use Mixture	\$108.33
lative Perennial Mix	Special Use Mixture	\$66.67
Shade Mix	Special Use Mixture	\$30.00
Short Prairie Flower & Grass Mix	Special Use Mixture	\$63.33
Short Prairie Flower Mix	Special Use Mixture	\$86.67
Sunburst Ground-Cover Flower Mix	Special Use Mixture	#N/A
Super-Short Mix	Special Use Mixture	\$86.67
all Prairie Flower & Grass Mix	Special Use Mixture	\$63.33
Fall Prairie Flower Mix	Special Use Mixture	\$86.67
Keriscape Mix: Eastern U.S.	Special Use Mixture	\$45.00
Keriscape Mix: Western U.S.	Special Use Mixture	\$66.67
Gulf Coast/Caribbean Mix	Standard Regional Mixture	\$28.33
1idwest Mix	Standard Regional Mixture	\$33.33
Iountain Mix	Standard Regional Mixture	\$33.33
Northeast Mix	Standard Regional Mixture	\$30.00
lorthwest Mix	Standard Regional Mixture	\$35.00
Southeast Mix	Standard Regional Mixture	\$33.33
Southwest Mix	Standard Regional Mixture	\$41.67
exas/Oklahoma Mix	Standard Regional Mixture	\$36.67
Vestern Mix	Standard Regional Mixture	\$38.33
Annual Value Mix	Value Mixture	\$25.00
1idwest Value Mix	Value Mixture	\$26.67
Iountain Value Mix	Value Mixture	\$30.00
lorth American Value Mix	Value Mixture	\$25.00
lortheast Value Mix	Value Mixture	\$25.00
lorthwest Value Mix	Value Mixture	\$30.00
erennial Value Mix	Value Mixture	\$31.67
Southeast Value Mix	Value Mixture	\$26.67
Southwest Value Mix	Value Mixture	\$30.00
exas/Oklahoma Value Mix	Value Mixture	\$26.67
Vestern Value Mix	Value Mixture	\$30.00
Detention Basin Mix	Wetland Mixture	\$33.33
Vet Meadow Mix	Wetland Mixture	\$66.67

FOB Shipping Point. Prices are subject to change.